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Correct Marks: 2 WrongMarks: 0

Which of the following is an indicator of key behaviour in effective teaching as evident from
researches ?

Options:

teacher affect in deve{nping teacher-learner reiatiunship
9139437201,



engagement in learning by students
9139437202, © )

1' T . = T = - _) = 'y
Sy HEME student ideas and contributions

use of process and content questions during teaching
9139437204,
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Correct Marks: 2 Wrong Marks: 0

In the following statements identify those which relate to ‘Norm-Referenced Testing” (NRT).
Select from the code to give your answer.

(a) Covering a large domain of learning tasks with just a few items measuring specific
tasks.
(b) Emphasizing discrimination among individuals in terms of relative level of learning,.
(c) Focusing on a specified domain of learning tasks with a large number of items measuring
specific tasks.
(d) Interpretation requires a clearly defined group.
(e) Interpretation requires a clearly defined achievement domain.
(f)  Emphasizing description of learning tasks which individuals can and cannot perform.
Code :
Options:

(a), (b) and (d)

9133457205,

(b), (¢) and (f)

B133457 206,



(a), (b) and (c)

B133437Z207.

(d), (e) and (f)

21239427208,
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Options:

(a), (b) 3R (d)

9133457205,

(b), (c) ¥R (f)

133457206,

(a), (b) 3 ()

2133457207,

(d), (e) 3R (F)

21239427208,
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In the two sets given below, Set - I provides the different levels of teaching and learning
while Set - Il gives their exemplars and concerns. Match the two sets and select from the

code to indicate your answer.
Set - 1
(Levels of teaching and learning)

Memory level ()

(b)  Understanding level (ii)

(c) Reflective level (iii)
(iv)

Code :

(a) (b) (¢

Options:

Q129437209 (l) ([i) (ill)

9139437210, (i) (i)  (iv)

9129427211, (“i) (IV) (1)

Q139427212 (EV) (lﬂ) (ﬁ)

Set - 11
(Exemplars and concerns)
Encourages critical thinking based cognitive
interchange

Protects personal interest and attitudinal
concerns

Facilitates recalling and recognizing of facts
Enhances scope for seeing of relationships and
meanings
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Options:

9133457209, (1)

9139437210, (i) (i)  (iv)
sisismn S8 ) 4
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2139427212,
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From the following list, identify the indicators of commitment areas of teachers and learners.
Select from the code to give your answer.

a) ‘Do it well’ approach
b) Developing contact with community
¢) Enhancing performance in classroom including teaching-learning processes

(d) Concern for the allround development and readiness to help
(e)  Acquiring curricular and content competency

f)  Respecting impartiality, objectivity and intellectual honesty

Options:

(b) and (c)

9139427213, (ﬂ)’

(c) and (d)

9139437214 (b)’

(a), (d) and (f)

9139457215,

(d), (e) and (f)

9133457216,
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In which of the following methods of research the independent variable has to be selected
rather than manipulated ?

Options:

Descriptive survey method
9139437217, -

Experimental method
9139437218,

Ex post facto method
9139437219,

Exegetic research
9139437220,
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In the list of statements given below which of them offer a suitable definition of research ?
Give your answer by selecting from the code.

a) Research means a repeated search.

b) Research is basically an answer to a question.

d) Research is an endeavour to prove one’s hypothesis.

(c) Research provides an authentic solution to a problem.
(e) Research is a meaning - giving process.

f)  Research means drawing a sample from a defined population.

Code :
Options:
9139437221, (a), (b) and (c)
sisgiass P 16 and G
9139437223, (a), (d) and (f)
o150umrong (D) (€) and (e)
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(a), (b) 3R (c)

9139457221,

(b), () S (f)

2139457222,

(a), (d) 3R (f)

B133457223.

(b), (c) #R (e)

9133457224,
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Ability to see and size up the situation creatively is most relevant at which stage of
research ?
Options:

At the stace of identifvine and definine a research problem.
9139427275 o / o

a13943700¢ 1N determining the research design and its execution.

In formulating research hypotheses and procedures for testing them.
9139437227, :

In deciding and identifying the sampling procedures to ensure their representative

0133437205 Character.
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‘Research ethics’ is of critical importance in which of the following areas ? Select your answer
from the code given below :

a) Data collecting

b) Preparing a seminar paper

(

(

(c) Data analysis
(d) Participation in a conference
(e)  Writing a thesis/dissertation
(f)  Selecting a research problem
Code :

Options:

(a), (b) and (c)

2139437229,

(@), (c) and (e)

2139427220,

(d), (e) and (f)

9133457231,

(a), (b) and (f)

9139457252,

Question Number : 8 Question Id : 9139431842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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(a), (b) 3R (c)

9139457223,

(a), () 3T (e)

9133457230,

(d), (e) 3R (f)

9133457231,

(a), (b) 3T (f)

9139457232,
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While presenting the research outcomes and sharing the same with others, in which of the
following research type, the style has to be impersonal ?
Options:

9139457555 Ethnographic studies

B — Action research based studies

Causal comparative based Ex post facto studies
9139437235,

Narrative studies
9139437236,
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Options:
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Which of the following methods of teaching will encourage indirect learning ?
Options:

Lecturing with examples
9139437237,

Team teaching
9139437238,

Demonstration on a subject
9139437239,

Collaborative projects
9139437240,
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Sub-Section 1d: 91394392
Question Shuffling Allowed : Yes

Question Id : 9139431845 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label © Comprehension

Read the passage carefully and answer question numbers from 11 to 15.

In noting the nature of human lives, we have reason to be interested not only in the various
things we succeed in doing, but also in the freedoms that we actually have to choose between
different kinds of lives. The freedom to choose our lives can make a significant contribution to our
well-being, but going beyond the perspective of well-being, the freedom itself may be seen as
important. Being able to reason and choose is a significant aspect of human life. In fact, we are
under no obligation to seek only our own well-being. It is for us to decide what we have good
reason to pursue. We need not have to be a great leader to recognise that we can have aims or
priorities that differ from the single-minded pursuit of our own well-being only. The freedoms and
capabilities we enjoy can also be valuable to us. It is ultimately for us to decide how to use the
freedom we have. It is important to emphasise that if social realisations are assessed in terms of
capabilities that people actually have, rather than in terms of their utilities or happiness. First,
human lives are then seen inclusively, taking note of the substantive freedoms that people enjoy,
rather than ignoring everything other than pleasures or utilities they end up having. There is also
a second significant aspect of freedom : it makes us accountable for what we do. Freedom to
choose gives us the opportunity to decide what we should do, but with that opportunity comes the
responsibility for what we do - to the extent that they are chosen actions. Since a capability is the
power to do something, the accountability that emanates from that ability - that power - is a part
of the capability perspective, and this can make room for demands of duty - what can be broadly
called deontological demands. There is an overlap here between agency-centred concerns and the
implications of a capability based approach. The perspective of social realisations will take us to
further issues central to the analysis of justice in the world.

Sub questions

Question Number : 11 Question Id : 9139431846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Why freedom is seen as important ?

Options:

T'o succeed in doing things.
9139437241,

To have different life styles.
9139437242, :

To understand the perspective of one’s well-being.
9139437243,

To go beyond the perspective of one’s own well-being.
9139437244, -

Question Number : 12 Question Id : 9139431847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Wh}f should we go beycsnd considerations of our own we[[-bemg ?
Options:

To follow in the footsteps of great leaders.
9139437245

To think of freedoms of others.
9139437246,

To appreciate that our aims can differ from self-interest.
9139437247,

To be able to enjoy our freedoms.
9139437248 ’

Question Number : 13 Question Id : 9139431848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is of no value for assessing social realisations ?
Options:

Capabilities of people
9139437249,

Utilities

9133457250

_ Ty s
a1504z70c;  IDAbIlity to use the freedom given

lgnoring the values of freedom
9139437252,

Question Number : 14 Question Id : 9139431849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
What is the inherent aspect of freedom ?

Options:

i , :
ha h } )
N Pleasures of freedom

SoSEEsE Absence of actions

Accountability
9139437255, *

Well-being of the self
9139437256,



Question Number : 15 Question Id : 9139431850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
The central idea of the passage is :

Options:

Emphasis on variety of personal issues
9139437257, .

Use of power for freedom
9139437258,

Responsibility for individual happiness
9139437259, .

Need for securing justice to all
9139437260,

Question Id : 9139431845 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
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Question Number : 16 Question Id : 9139431851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When students place themselves close to certain communication sources, it will lead to :
Options:

9129437561 Source domination



Selective exposure
9139437262,

Negative choices
9139437263,

Impersonal behaviour
9139437264,
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Question Number : 17 Question Id : 9139431852 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O

Assertion (A) : Classroom communication involves the clear decoding of messages by the
students.

Reason (R) : By increasing redundancy, we can improve the fidelity of communication.

Code :

Options:

Both (A) and (R) are true.
9139437265

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
9139437266,

9139437267 (A) is true, but (R) is false.

(A) is false, but (R) is true.
9139437268
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Fleeting changes that occur in facial expressions of teachers in a classroom are described as :
Options:

o~ Significant - momentary movements

Informational - momentary movements
9133437270, ¥

Macro - momentary movements
9139437271, =

Micro - momentary movements
9139437272, d

Question Number : 18 Question Id : 9139431853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fen H et &1 gEnt g/ 1 M sAfvsafad | 29 9 eiftre ufieda Feand €

Options:

Higsh — &k Hoa
Q1294272689

GIATcHF — &7ioreh g

133457270,



ged - &freh H=ed

9133457271,

2139427272, ﬁ&:q e

Question Number : 19 Question Id : 9139431854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the correct sequence of decoding process of communication in the classroom.
Options:

e ST T - N, 2 - s
SRy Evaluation, Interpretation, Sensory involvement, Feedback

Feedback, Sensory involvement, Interpretation, Evaluation
9139437274, J

Sensory involvement, Interpretation, Evaluation, Feedback
9139437275, Y 4 s 4 N 4 a

o1maus70eg LNLETpPrEtation, Evaluation, Feedback, Sensory involvement

Question Number : 19 Question Id : 9139431854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
eI HYYUT ki UishAT o Wel fodehdd 3TIshH i U89 it |

Options:

9139437273 oA, T o=, 3=, gfdagfe

giaqfte, sf=a-af=ed, fe=r, geais
Q1592437274

Sideissasy  RURET RIS, IHeEY, ok, qfayfte

- Ter=, goaie, wfagfe, sfea-af=e

B139457276

Question Number : 20 Question Id : 9139431855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

Given below are two sets. Set - I embodies the types of communication while Set - II provides
their exemplification. Select your answer from the code given :

Set -1
(Types of Communication)

(a) Linear communication
(b) Interactive communication

(c) Transactional communication

Code :
(a) (b) (o)

Options:

9139437277, (i) (1) (i)

9133457278, (IV) ([l) (I_Ll)

133457273,

2133457280,

Set - 11
(Exemplification)
Members are given themes on which they are

required to hold discussion.

A teacher in the classroom presents a
structured content

The principal of a college holds the staff
meeting for understanding their problems.

The teacher and students in a college go on
rampage

Question Number : 20 Question Id : 9139431855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= < 9= fou T ¥ wg=E - 1 H 99 % YR fou U ¥ saie wyea - 10§ 3T
TR W& o T €1 = fSU T e w1 =9 w391 I S

T - 1
( FYWUT & W)
(a) Y@ HYwo

(b)  SA=<RfsHATHE HUT0]
(c) Teranfafasrd Hhuo

(iv)

Y=g - 11
( TETATRTOT )
Hewi i fog 7 fawdi W == w1 F ol Fe
e |
Feql | e U =g fowg wegd #a
U Helgdrerd Y= {94 ATYFRHAT & T9
T ¥ 3! 3% AT ¢ |
T § e ud famme e 7= € |




Options:

9139437277, (i) (i) (1)
9139437278, (iv) (i) (i)

9133457279, (Ll) (LL[) ([)

9139437280, (1) (iv) (i)

Question Number : 21 Question Id : 9139431856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the sequence of numbers 5, 19, 49, 101, 181, 295, «, ......, the term x is :

Options:

9133457281, 401

r_..]
i1
—

2139427282,

133457283, 449

9133457284, 001

Question Number : 21 Question Id : 9139431856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
HE& ST 5, 19, 49, 101, 181, 295, X, ..., H W 1 T :
Options:

9133457281, 401

r_..,J
o
[

B133457 282,

B133457 283, 449

9139437284 U1

Question Number : 22 Question Id : 9139431857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If NTA14 and NTA15 are 5-digit numbers such that their sum is 157229, then N+T+A would
be :

Options:

9133457285,
133457286,
133457257,
9133457288,

Question Number : 22 Question Id : 9139431857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gfe NTA14 991 NTA15, 5-3{ah! el TH &AW ¢ fSFT 0T 157229 &1, a1 N+T+A &1 91
2 -

Options:
1.5
9139437285, 19
21
9139437286, <

253
9139437287, <

1339457285, 72

Question Number : 23 Question Id : 9139431858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A’s mother is sister of B and daughter of C. D is daughter of B and sister of E. How is C
related to E ?

Options:

W : -'| ol F |r
15943758 Sister-in-law

2133437230, Aunt

T - :'I
o138437091 OTandmother

10
B133457 232, Mother



Question Number : 23 Question Id : 9139431858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AR AAMBH TRAANCH T €l DARI BRI I AUME Sl sgd &1 C H E H 1 fwar €2
Options:

HIHT
9139437289,

==l

9133457290,

BIEI

9133457231,

9133457292, 10l

Question Number : 24 Question Id : 9139431859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

You have recently joined a new office. Walking at 5 km/hour, you reach the office from
vour house 15 minutes early and walking at 3 km/hour, you are late by 9 minutes. The
distance between your house and office is :

Options:

5 km
9139437293,

8 km
9139437294,

3 km
9139437295,

2 km
9139437296,

Question Number : 24 Question Id : 9139431859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A9 B B J fRdt 79 Feied § YevR TR R ¥ 99 o9 9 R F 5 fei/Ha & 9 9
TaAd 2 a1 379 15 2 Teet wEed g9 9d € AR afg 39 3 fRel /s &1 9 9 Jed € 1 A
9 fife X ¥ FAied UEad € | 39 X FEed & g4 ¢

Options:

SRELIl

9133457233,

8 Tt

133457294



Q1=394=272985, rﬁ fﬂ:—,‘lﬂ'
2 Tt

B133457 296,

Question Number : 25 Question Id : 9139431860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
Choose the correct alternative to replace the question mark (?).
42 — 26
1 =5 78
33 — 16
62 — ?
Options:

68
9139437297,

133457235,
133437239,
B133437300.

Question Number : 25 Question Id : 9139431860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9 98 (?) o ¥UH R G&l faehed =1 iU |
42
71
33

6

— 26
— 78
— 16
=¥

-2

Options:

133457237,

9133457298,

9133457299,

68

54



39
9139437300 *

Question Number : 26 Question Id : 9139431861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A cluster of propositions with a structure that exhibits some inference is called :
Options:

An implication
9139437301,

An argument
9139437302,

An explanation
9139437303,

A description
9139437304,

Question Number : 26 Question Id : 9139431861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T yfaad = Toae T= $3 30H ST €, 39 el ol ©

Options:

 Fifead

21394273201

T 9

91339457302

91339457303, (Al

Ty

9133457304,

Question Number : 27 Question Id : 9139431862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises. Four conclusions are drawn from them (taking singly or
together). Select the code that states the validly drawn conclusions.

Premises : (i) Some flowers are red.
(if)  All roses are flowers.
Conclusions : (a) Some roses are red.
(b) Some red things are flowers.
(c) Some flowers are roses.
(d) All roses are red.
Code :
Options:
(a), (b) and (c) only
9139437305 «
o15043730¢ (@) and (b) only
(b) and (c) only
2133457307, :
(c) and (d) only
9133457308, 3

Question Number : 27 Question Id : 9139431862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

9 1 R e fow U ¥ 39 R gl 9 IR ek el ™ ¥ 39 Fe o =S RS
YT TR &9 H TRl T3 (STYR S il 37ehel A9 WYad ®9 9 oid gu) ek / frswui =61 gwiian
gl

YR AR : () FOFAAALI G|
(i) H TEE Fe B 2 |
frend - (a) D T I BN ¢ |
(b) FS o T G Bl |
(©) TS FATEAE LI
(d) Y T A B €
e :
Options:

FId (a), (b) AR (¢)

9133457305,

FIA (a) 3R (b)

9133457306,



FFA (b) 3R (c)

2133457307,

FIA (c) 3R (d)

2133457308,

Question Number : 28 Question Id : 9139431863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the statements (a), (b), (c) and (d) given below. Which one of the codes contains
the correct statements only ?

(a) Venn diagram is a clear method of notation.

(b) To diagram a standard form of a categorical proposition, three overlapping circles are
drawn.

(c) To test a categorical syllogism, two overlapping circles are drawn.
(d) Venn diagram is a method of testing the validity of categorical syllogisms.
Code :

Options:

g (a) and (b) only
9139437310, (a), (b) and (c) only
9139437311 (a), (b), (c) and (d)
5139437312 (a) and (d) only

Question Number : 28 Question Id : 9139431863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= =) FeH (a), (b), (0) 3R (d) W fo=r Fifsw | Frafafaa § 9 fF $2 § Faa @& s
oI ¥ 2

(a) I ANE Hohad &1 TR I5fd B

(b) et Freifasr sneaRame % 9Fe €9 3EH &g o1 sifderr 99 ©" 9 2|
(c) Toreht Fbe = & odtern & 1 SAfasare 99 g S © |

(d) =7 7@ fordt e a1 WEIoehdl o 949870 &1 U 960d ¢ |

<

Options:

FIA (a) 3R (b)

2133457303,



Fad (a), (b) 3R (0)

9133457310,

(a), (b), (¢) 3R (d)

9133457311,

Fad (a) 3R (d)

B133457312.

Question Number : 29 Question Id : 9139431864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the proposition ‘No dog is quadruped’ is false which one among the following propositions
can be claimed certainly to be true ?

Options:

All dogs are quadruped.
9139437313

Some does are gquadruped.
9139437314, Rt P

P—— Some dogs are not quadruped.

All dogs are biped.
9139437316,

Question Number : 29 Question Id : 9139431864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i 9% Uidsta o ‘#ig a7 Fi9r 781 ¢ e o a1 (14 8 § g ufaafa & Fived €9 9 98 21
1 g1 T T Haha1 €2

i Sm

9133457313,

9139437314 39 @% A9 % l

FD Fd TR AT E |

9139457315,

qufi F fgure 21

291339457316,

Question Number : 30 Question Id : 9139431865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A deductive argument is invalid if :
Options:

s premises -onclusions are : _
0139437317 lts premises and conclusions are all true

lts premises and conclusions are all false.
9139437318,

9130437310 1S premises are all true but its conclusion is false.

Its premises are all false but 1ts conclusion is true.
9139437320

Question Number : 30 Question Id : 9139431865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fTATeH e STUTHITE © 4979

Options:

- S5k SMYR 9o Ue feeRd @l e 2

91332457317

159437315 SHH STYR 919 T4 fehY i 7Te1d 2 |
- 3HF [T AR 91 HE & W] g9 e Terd @

8139457319

- ZHE Gl SR ST TTerd 2 W] gheh ek e 2

91339457320

Sub-Section Number: 4
Sub-Section Id: 91394394
Question Shuffling Allowed : Yes

Question Id : 9139431866 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



The following table shows the percentage of marks (%) obtained by five students A-E in six
subjects 51-56. Maximum marks in all the six subjects 51-56 are 80, 75, 100, 120, 125 and
150 respectively. In accordance with the table given below, answer the questions that follow
(Questions 31 - 35) :

Percentage of marks (%) obtained by five students in six subjects

Subject
—>

51 52 =% 54 50 S6

Student

|

(Out of 80 |(Outof 75 [(Out of 100((Out of 120 |(Out of 125 |(Out of 150

marks) marks) marks) marks) marks) marks)
A 80 i) 76 80 50 65
B 60 70 88 90 65 72
£ 45 65 44 72 72 82
D 50 75 72 84 64 70
E 65 45 68 60 80 66
Sub questions

Question Number : 31 Question Id : 9139431867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The approximate average percentage of marks obtained by student A comes out to be :

Options:

65 %
9139437321,

74 %
2139437322,

79 %
9139437323

70%
9139437324

Question Number : 32 Question Id : 9139431868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The difference in the total marks obtained by student A in the subjects S3 and $4 taken
together and student E in the subjects S3 and 54 taken together, is :
Options:
~

30
9139437325,



9139437326,
28
9139437327
52
9139437328,

Question Number : 33 Question Id : 9139431869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The average percentage of marks obtained by all the five students together in subject S6, is :

Options:

71%
21394237329,

69 %
21392427320,

64 %
91394373351,

79 "%
A1539437332.

Question Number : 34 Question Id : 9139431870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The average of marks obtained by all the five students together in subject $1, is :

Options:

48
9139437333,

9133457354

49
9139437335

o
[}

2139427236,

Question Number : 35 Question Id : 9139431871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The difference in the marks obtained by all the five students together in the subjects S3 and
51,15

Options:



48

B133457337.

98
9139437338,

108
9139437339,

110
9139437340,

Question Id : 9139431866 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label © Comprehension

frefafEd aiferes § ure faanfedi A - E & 38 f99di S1 - S6 T Ui & 9ia9rd &1 g9y 791 8 | 9
fawdi 51 - Se | afareran e HHW: 80, 75, 100, 120, 125 41 150 €1 = €F T arfeta & TR
= &8 T 9wl (31 - 35) w1 S ST

o faenfeli g = fawat # wra it 1 wfava (%)
T 51 ) 53 S4 S5 S6
—»

foremeft (F80 |(pa75 |(Fe100 |[(Fe120 |(m@125 |(Fer150
\ s id) ) [dFad) (dwAa) |wwaa) |@wid)

A 80 72 76 80 50 65

B 60 70 38 90 65 72

C 45 65 44 72 72 82

D 50 75 72 84 64 70

65 45 68 60 30 66

Sub questions

Question Number : 31 Question Id : 9139431867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Torzmelt A 11 9T 37eRi 1 39d U9 & o4

Options:

= oy
9139437321, 02

A4 0/
D1394373222. ?"-l /0



gl o |
9139437323 /D /0

s
9139437324, 70%

Question Number : 32 Question Id : 9139431868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tt A =1 fa9a1 3 a1 S4 H Fat yraiek AR faenedi £ 1 fawa S3 a9 S4 # Fa uraish o1 HAH
g

Options:

9139437325 30
36

9139437326,

9139437327 28

B133457 328,

Question Number : 33 Question Id : 9139431869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fawa Se § Qi ure faenfu=i grn ura a3 siahi =1 3ird wfaed € -
Options:

~r [‘:l.'
s
9139437329, 71%

Qo
9139437330, 69%

10
9139437331 64 %

= I.'EI.-r
9139437332, 73%

Question Number : 34 Question Id : 9139431870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
faw S1 | |efi dr= foenferi g/ ura o3 7 il a1 o9 €
Options:

2133457333, 438

9139437334 2V



qC
91334573355, 49

9139437338 21

Question Number : 35 Question Id : 9139431871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fawar 53 qar S1 ° 9fi o=l fa=nfefdi grn ure ford 13 3iahi 1 3= ©

Options:

2133457337, 48
O
133437358, I8

21239427229 108

2133457340, 110

Sub-Section Number: 5
Sub-Section Id: 91394395
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 9139431872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following pairs least matches in respect of Computers ?

:::;:«-341_ 1 Gigabyte : (1024) % (1024) x (1024) Bytes
9139437342, LCD 3 Light Crystal Display

T — USB : Universal Serial Bus
9139437344 GUI . Graphi::a[ User Interface

Question Number : 36 Question Id : 9139431872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frfafad § 9§ 91 I8 FPg & G99 § 37eqqq 9 § Hel T § 2




Options:

0130437341, | RIEIEC 5 (1024) x (1024) x (1024) «TrE<H
9139437342, T HLEL. : iz Tshidel Tsd™
9139437343, ?I\@Eﬂ : el Al o

ST 3T . UIfReRel ISR $eHY

91334573544

Question Number : 37 Question Id : 9139431873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Amit has decided to use either a DVD-RW or DVD-R. Select statements that are TRUE for
these storage devices.

P: Both DVD - R and DVD - RW are read only.

Q: DVD - R can be written to only once.

R: DVD - RW can be written to many times.

S: Both DVD - R and DVD - RW can be written to only once.

Options:

P only
9139437345, :

5 .
9133457346, S ¢ 11[}

P and R only
9139437347, 2

Q and R only
9139437348, :

Question Number : 37 Question Id : 9139431873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sfa A T AL - gy, A LA EL-AR H F TR u % S & ol foen 21 3 e
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Options:



Fae .

9133457345,

_WE\E{.

9133457346

| Fad Ul. 3R AR

2159427347

- HIA ], 3R R,

9133457348

Question Number : 38 Question Id : 9139431874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The following list indicates different types of computer networks. Arrange them in an
ascending order on the basis of geographical space implied.

Options:

9139437345 AN, WAN, MAN

- WAN, LAN, MAN

21539427350

MAN, LAN, WAN
9139437351,

LAN, MAN, WAN

21394273252,

Question Number : 38 Question Id : 9139431874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frefataa g=i § Hrze q2aad o fafy= YehRi 1 9 T €| 3 siafiied Tasimnhee T19 &
YR W AN A H Faferd sifau |

Options:

- UG, e LU, THE A

21539427349

- S, TA G, THEEA.

9133457350

CUHETEA, el U, esd T U

2139427351

AR, TR, s LLE.

9133457352



Question Number : 39 Question Id : 9139431875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Computer peripherals are external devices connected to a computer. Which list contains
input peripheral devices ONLY ?

Options:

Speakers, Scanners, Mouse, Modem
9139437353,

0159437554 Keyboard, Projector, Mouse, Flash drive

licrophones, Irack-b:e use, Sc lTouch scree
0159457555 Microphones, Track-ball mouse, Scanner, Touch screen

Laser printer, Graphic tablet, Barcode reader, Hard disk
9139437358,

Question Number : 39 Question Id : 9139431875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FII e FP H S 96l ST 2id ¢ | TRy g1 § ad 3192 Jwew feu e €7

Options:

iRy, ThH9, HI3Y, HiEH

9139437353,

9139437354, FISTE, USieey, HISH, FoIvl 913e

9139437355, HIZHhTHIY, E‘ch_ﬂﬁm HIH, TFY, 29 WhiA
9139437356, A =, ":IT&EEWE, IR HIS ":15{,-. e fei=h

Question Number : 40 Question Id : 9139431876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following spreadsheet (MS-EXCEL) :
EXCEL Spreadsheet

A B C

10 | 16
20
8
12
5 0

e o B L

The equation in cell B2 is = A2+ BI.

This equation is then copied and pasted to cells B3, B4 and B5. What should be the value in
B5 ?

Options:

2133457357,

9133457358,

44
9139437359,

B133457360.

Question Number : 40 Question Id : 9139431876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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36
9139437357, -



2139427258, 24

44

9133457359,

2133457360, o6

Question Number : 41 Question Id : 9139431877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The tsunami that occurred in south and south-east Asia in December, 2004 was caused due
to :
Options:

An earthquake
9139437361,

A volcanic eruptiun
9139437362,

A hurricane
9139437363,

A tropical cyclone
9139437364, .

Question Number : 41 Question Id : 9139431877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91334573561, 11

- SAreTqEl e

15339427362

B133457 363, LR ( 5[{#“1)
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Question Number : 42 Question Id : 9139431878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following gases initiates a chain reaction that breaks-down ozone in the upper
atmosphere ?



Options:

Nitroeen dioxide
9139437365, >

Carbon dioxide
9139437366,

Hydrogen sulphide
9139437367, -

Chlorine
9139437368,

Question Number : 42 Question Id : 9139431878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

9139437365 MRGIoT SESIHIZS

9129437386, P11 SIRAIHIRS

Y
9139437367, QRIS MRS

2139427268, H ll |

Question Number : 43 Question Id : 9139431879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

High level lead (Pb) exposures in humans through inhalations or food consumption may
cause :

(a) Mental retardation

(b) High blood pressure

(c) Disorder of central nervous system

Select the correct answer from the code given below :

Options:
9139437369, (a) and (b) only
9139437370, (b) and (c) only

9139437371, (c) and (a) only



(a), (b) and (c)

133457372

Question Number : 43 Question Id : 9139431879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

I (a) AT (b)

9133457369,

Fae (b) AT ()

2133457370,

e (c) 991 (a)

2139427271,

(a), (b) 9T (c)

9133457372,

Question Number : 44 Question Id : 9139431880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In a human population, which is undergoing the demographic transition, which of the

followineg ¢enerally decreases first ?
5 N ] o

Options:

Life expectancy
9139437373. ,

Level of education
9139437374,

Death rate
9139437375,

Birth rate
9139437376,

Question Number : 44 Question Id : 9139431880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

_Wmﬁn

21539427373

1339457374 ﬁn&:" Bl &R

9133457375, 3 E <

2139427276, H

Question Number : 45 Question Id : 9139431881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : The ecosystem surrounding a river gets damaged due to construction of a
dam.

Reason (R) : The area gets inundated with large volume of water.
Choose the correct code :
Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A).
9139437377,

a130457375. DOt (A) and (R) are correct, but (R) is not the correct explanation of (A).

e (A) is true and (R) is false.

(A) is false and (R) is true.
9139437380,

Question Number : 45 Question Id : 9139431881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91334537379,
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Question Number : 46 Question Id : 9139431882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following has larger scope for the possibility of hands on experience ?
Options:

Seminar
9139437381,

5139437385 Conference

Workshop

2139427285,

Symposium
9139437384,

Question Number : 46 Question Id : 9139431882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

9133457381, q ” 5'
B133457 382, Tl

EAREUE]

B133457 383,

RIS EIH

9133457384

Question Number : 47 Question Id : 9139431883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following is less oriented towards knowledge dissemination ?
Options:

9139437385, Seminar



Classroom

9139437386
rmouazany TIGIA WREK
13943735z Journal

Question Number : 47 Question Id : 9139431883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

TS

B133457 385,

B133457 386,

EEEaC]

9133457387

R (SFA)

9133457388

Question Number : 48 Question Id : 9139431884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following body is empowered with the role of appointment and approval of
teachers in a University System in India ?

Options:

Board of Management/Executive Council/Syndicate
9139437389 > :

Sigiiassyy Academic Coundil

Board of Studies
9139437391,

University Court/Senate
9139437392 4

Question Number : 48 Question Id : 9139431884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

» * o T 1 it iy W b r ™y
139437350 A9 9 Hed (FE A HASH) /TSR] Wﬁﬂf{/ﬁfﬁar

8133437390, :\
 UIgd 9Hfd
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Question Number : 49 Question Id : 9139431885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is entrusted with the responsibility for coordination and quality of
higher education in India ?

Options:

-T ) -1 3 =
9139437393, Bar Council of India

I.‘L‘.}“" i " " 1 1 |_1T e l..
S Association of Indian Universities

University Grants Commission
9139437395, :

2133457396, NI A}Fﬂg

Question Number : 49 Question Id : 9139431885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
9139437393, RUGIREEIEIE R
9139437394 YA favdiaenad §49
9139437395 fereaferanerd STeM ST
9139437396, RUEE R

Question Number : 50 Question Id : 9139431886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks:

2 WrongMarks: 0

Who is the administrative and academic head of Indian

Options:

9133457397,

9133457395

2139427299,

2133437400,

Chancellor of a University

Vice-chancellor of a University

Registrar of a University

Dean of studies in a University

University System ?

Question Number : 50 Question Id : 9139431886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks:

2 WrongMarks: 0
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Options:

fereafe=reTa &1 FeAnedd

B133457337.

B133457395.

B9133457339. FRHAISENCT ] i
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2133437400,

Paper I1
Group Number : 2
Group Id: 91394326
Group Maximum Duration : 120
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 200
£7 Archaeology

Section Id : 91394326

Section Number : 1

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 91394396
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 9139431887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

On a prominent sand-dune, locally known as Mahasati, a Mesolithie site is located; its name
is

Options:

9139437401, lwara
Bagor

9139437402,

9139437403, T eem Bahera
Mandapiva

9139437404, i

Question Number : 51 Question Id : 9139431887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

9133437401, R
3133437402 IR
9133437403 A w3
9132437404 AR

Question Number : 52 Question Id : 9139431888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Four double burials have been recovered from which of the following Mesolithic sites ?

Options:

9139437405, anadaha
Chopani Mando

9139437406,

9139437407 araiNaharRai

9139437403, amdama

Question Number : 52 Question Id : 9139431888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

2139427405,

9133457406,

LILE) LEY
21239427407, T

2133457408,

Question Number : 53 Question Id : 9139431889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The earliest nown evidence of stone tools found in association with hominid fossils are
reported from which site ?

Options:

9139437409, oetol

9139437410, T 20AT

9139437411, Srerkfontein
Swartkrans

9133457412,



Question Number : 53 Question Id : 9139431889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

9139437409, :

9139437410, I

9139437411, o
HEH

9139437412,

Question Number : 54 Question Id : 9139431890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The Neolithic site of Daojali Hading was excavated by

Options:

9139437413 DK Chakrabarti
9139437414 O Dasgupta
9139437415, 1O Sharma
9139437416, - Dan

Question Number : 54 Question Id : 9139431890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
9139437413 a5 7
ot . greear A
2139427414
&4, wmf 3

2139427415,



. gE A
9139437416, o

Question Number : 55 Question Id : 9139431891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The evidence of the construction of wall of boulders during the Acheulian phase was found
from which of the following rock-shelters 7

Options:

Bhaghai Khor
9139437417,

Adamgarh
9139437418,
9139437419, Coimbetka
9139437420, Lekhahia

Question Number : 55 Question Id : 9139431891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

T W
9139437417,

HIGHTG
21394274158,
9139437419
A1z9437420,

Question Number : 56 Question Id : 9139431892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is nef depicted in Indian Mesolithic

paintings ?
Options:
Snak
9139437421, S one
Frog

9133457422,



9139437403, zard

Squirrel
9133457424,

Question Number : 56 Question Id : 9139431892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

2139427421,

133457422,

133457423,

fireredt

2133457424

Question Number : 57 Question Id : 9139431893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The exeavators of Chandoli were

Options:
9139437425, S.B. Deo and Z.A. Ansari
913943746, H.D. Sankalia and M.E. Dhavalikar
M.N. Deshpande and S.A. Sali
F139437427.
S.R. Rao and K.V. Soundararajan
2139437425,

Question Number : 57 Question Id : 9139431893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

9139437425 @A 3 =Y.
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9139437426,
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9139437427 R R
wH, AN, 19 3 w4 dears
9139437428,

Question Number : 58 Question Id : 9139431894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who was the first archaeologist to connect the ash mounds with the Neolithic culture ?

Options:
9139437429, obert Bruce Foote
9139437430 19+ Newbold
9139437431, O Yazdani

K. Paddayya
9139437432,

Question Number : 58 Question Id : 9139431894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

9139437429, T A %
9139437430. A3, s
9139437431 0. e
9139437432, % e

Question Number : 59 Question Id : 9139431895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following ash mound sites was excavated for the first time ?

Options:



Kupgal

9139437433
9139437434, - odatinl
9139437435, Dudihal
9139437436,

Question Number : 59 Question Id : 9139431895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

9133437433 F
9132427424 ﬁlﬁ:ﬁ
9133437435 EE{E"TH
91324374356 3

Question Number : 60 Question Id : 9139431896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Hiranyagarbha Mahadana ceremony performed by Rashtrakuta King Dantidurga at
Ujjain finds mention in which of the following inscriptions ?

Options:

Siyadoni stone inscription of the time of Devapala
9139437437,

Kamauli coper-plate inscription of Govindchandra
9139437438,

Khalimpur copper-plate inseription of Dharmapaladeva
91394374359, P pperp P P

Sanjan copper-plate inseription of Amoghavarsha I
A159437440, ! pperp P &

Question Number : 60 Question Id : 9139431896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

29Ta * T9T w1 frare vear afiee
9139437437,

iferesg =1 FHE T0-99 o
9139437438,

gHqTeed F1 @iyl qT8-99 &

2133457439
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Question Number : 61 Question Id : 9139431897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is meant by the term Dolmens ?

Options:

9139437441 Teols made of bone and wood

Wheel made potte
G139437442 POtiery

Prehistoric paintings
Q139437442 8

A of Megalithic burials
Q139427444 wpe "

Question Number : 61 Question Id : 9139431897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
i wehet Frfdfa Iwsor
21239427441, ww )

= Ffifa geume
9139437442

yritferaTfies fom

2139427443,

geeamaTfire: gwTierEt w1 Uh THR
9139437444,



Question Number : 62 Question Id : 9139431898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

From which of the following inscriptions, Buddha’s birth-place is known ?

Options:

9139437445, ommindel Minor Pillar edict
9139437446, armath Minor Pillar edict
9139437447, TlaskiMinor Rock edict
9139437445, oatrat Minor Rock edict

Question Number : 62 Question Id : 9139431898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

suftaes oy T
9139437445,

AT &Y TR
9139437446

et =y frerera
9139437447

e @y firere
9139437448,

Question Number : 63 Question Id : 9139431899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who was the first archaeologist to identify similarities between
pre-Harappan culture and the mature Harappan culture ?

Options:

9139437449 - Ghosh

9139437450, o5 Lal
B.P. Sinha

9133457451,



9139437452, o1 Rao

Question Number : 63 Question Id : 9139431899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

u, =y
9159437449,
9139437450, 3. A

aft. @ R
9159437451,

AR, THE

291394237452, «

Question Number : 64 Question Id : 9139431900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

From where have the earliest hoard of Punch-marked ecoins numbering 7668 been

discovered 7
Options:
Patraha (Bihar)
9139437453
Golakpur (Patna)
91394=37454

Amravati (Guntur, A.P.)
Q139437455

Coimbatore (Tamil Nadu)
Q139437456

Question Number : 64 Question Id : 9139431900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

e (ferEm)
9139427453



Trerehyt (FeT)

9139437454
ATt | Y TR

9139437455, T )
sigra (afe

9139437456, ( )

Question Number : 65 Question Id : 9139431901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following has the credit of deciphering Hathigumpha inseription of
Kharavela ?

Options:
9139437457, Dupler
9139437455 D-C-Sirear

Kashi Prasad Jayaswal
919437459,

Alexander Cunningham
9129437460,

Question Number : 65 Question Id : 9139431901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

9133457457,

9133457458, st

Fraft THTE FrEHETe
9139437459

9133457460,

Question Number : 66 Question Id : 9139431902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following inscriptions was inscribed in the Aramaic script by Asoka ?

Options:



Sopara

9139437461,
9139437462 Spar-Kunna
9139437463, o

9139437464, o pasEarh

Question Number : 66 Question Id : 9139431902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

9133457461,

133457462,

133457463,

9133457464 )

Question Number : 67 Question Id : 9139431903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Kavotsarga posture is associated with the image of the following :

Options:

9139437465, suddha
9139437466, CLva
91394374¢7, |rihankara
9139437468, ' ohnu

Question Number : 67 Question Id : 9139431903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
9139437465, %
9133437466, A
9133437467 i
9132437468, ﬁl‘h‘ﬂ

Question Number : 68 Question Id : 9139431904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sarada script was prevalent in which of the following areas 7

Options:
9139437469 S5Am
Bengal
9139437470,
Gujarat
9139437471,
9139437470 leashmir

Question Number : 68 Question Id : 9139431904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gy fafy Frafafias 9 @ foea & 9 wafem 4t 2

Options:
9133437463 e
9133437470 L
9132437471, e
HIHIT

133457472,



Question Number : 69 Question Id : 9139431905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which early Muslim king issued gold coins with the figure of seated Lakshmi on the obverse
and his own name in Nagari letters on the reverse 7

Options:

9139437473, Mahmud of Ghazni
Muhammad bin Qasim

Q129427474

9139437475, Muhammad bin Sam

5135437476, Shamsuddin Iltutmish

Question Number : 69 Question Id : 9139431905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

form i e o 3 o % U faaes vafaa fn fomss smwm w o<t &8 @sdt & angfa @
St geaTT 9 IHeR! 379 A v ferfy 7 ifwa 2 2

Options:

9132437473 A T
9133437474 mﬁqm
9132437475 gatqaﬁqmq
9133437476, ﬂqﬂ'ﬁﬂ?Wﬁﬂ

Question Number : 70 Question Id : 9139431906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following Adhyakshas, according to Kautilya, was entrusted with the

responsibility of issuing coins 7
Options:

Lakshnadhyaksha
9139427477,

Mudradhyaksha
9139437478,



Panyadhyaksha
9139437473

Rupvadhyaksha
Q1394374580 Py ¥

Question Number : 70 Question Id : 9139431906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hifera & srqam Frafafes & @ fea seaw % o 5 & P = R S o 2

Options:
A139437477. « A
HoTeqsy

3139437478,

9139437473 A

91339427480, 4
Sub-Section Number: 2
Sub-Section I1d: 91394397
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 9139431907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A mineralized human tibial shaft recovered from Attirampakkam was identified by
(i) Robert Bruce Foote

(ii) George Busk
(iii) William Boyd Dawkins
(iv) R. Lydekker

Choose the correct answer from the code given below :

Code:
Options:
(i), (ii) and (iii)
W129427451.
(ii), (iii) and (iv)
9139437452,

(i), (iii) and (iv)
9133457483,



(i), (ii) and (iv)
9133457454,

Question Number : 71 Question Id : 9139431907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
sfvrmrarn & wrea @i gaa ama 6 S (Tht) aafey F vgam f o
(i) T g4 g2 A
(i) oo == A
(iii) faferm atas sifa 3
(iv) 3R, HASFH 3

fr= fow e e A & ot I W g
e :

Options:

(i), (i) 3T (iii)
9139437481,

(id), (i) #H (iv)
9139437482,

(1), (iii) 3 (iv)
9139437483,

(i), (ii) 3 (iv)
9139437484,

Question Number : 72 Question Id : 9139431908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Pleistocene fossils of humans in India are found from which of the following sites ?
(i) Bhimbetka

(ii) Sarai Nahar Rai
(iii) Hathnora

(iv) Odai

Choose the correct answer from the code given below :

Code :
Options:
(i) and (ii)
Q139427485
(ii) and (iii)

9133457486,



(iii) and (iv)
Q139437487

(ii) and (iv)
Q139427458

Question Number : 72 Question Id : 9139431908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

W & Wfere= e & wra saryw e f6 woe 8 aa gu @ 2

(i) iweest
(il) HI FTE T
(iii) BY
(iv) 3frerd
fr feu e d @ wt I g
T :
Options:
(i) # (i)
9139437485,
(i) 31T (iii)
9139437486,
(iii) 3 (iv)
9139437487,
(ii) 3 (iv)
9139437488,

Question Number : 73 Question Id : 9139431909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Microliths’ have been found from
(i) Hunsgi
(ii) Baghai Khor
(iii) Isampur

(iv) Bagor
Choose the correct answer from the code given below :

Code:
Options:

(i) and (ii)
9133457489,



(i) and (iii)

G1394374490,

(i) and (iv)
Q139427491

(i) and (iv)
A1394374492

Question Number : 73 Question Id : 9139431909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘TS Fal @ d A ?
(i gaft
(i) =umd @i
(iii) FHHAYL
(iv) =R
Fr fou o e § @ Tt I A gf
?‘:
Options:
(i) 3 (ii)
9139437489,
(i) 3 (iii)
9139437490,
(i) 3 (iv)
9139437491,
(i) 3 (iv)
9139437492,

Question Number : 74 Question Id : 9139431910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Archaeological excavations at Ujjain were conducted by
(i) V.5. Wakankar

(ii) N.R. Banerjee
(iii) K.D. Bajpai
{iv) K.M. Srivastava

Choose the correct answer from the code given below :

Code :

Options:



(i) and (ii)

A1394374493

(ii) and (iii)
Q139427494

(iii) and (iv)
G1=394374495

(ii) and (iv)
Q139437496

Question Number : 74 Question Id : 9139431910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
IS 1 aTfcas e o o
(i) ot.um. e A
(ii) TR A Y
(iid) .2, Aot &

(iv) %.uH, Hfarea 3

= feu o g2 # @ ot I H g
e

Options:

(i) 3 (ii)
9139437493,

(ii) =4 (iid)
9139437494,

(iii) 3 (iv)
9139437495,

(ii) ¥ (iv)
9139437496,

Question Number : 75 Question Id : 9139431911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Neolithic site of Tekkalkotta was excavated by
(i) H.D. Sankalia

(ii) M.S. Nagraja Rao
(iii) B. Subbarao

(iv) S.B. Deo
Choose the correct answer from the code given below :

Code :



Options:

(1) and (ii)
Q129427497

(i1) and (iii)
9139437498,

(iii) and (iv)
Q129427499

(i) and (iii)
9139437500,

Question Number : 75 Question Id : 9139431911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FFREhIe] AT JORYE 1 Je@eq fea @
(i) w=.El. wiwfern 3

(il) UH.UH, TOEECE A
(iii) <t geamoa 3
(iv) TE.ft, 29

Fr faw mu e 7 @ vt 3w A Fhw
C T

Options:

(i) 3 (ii)
9139437497

(ii) ¥ (i)
Q1239437495

(iii) 3 (iv)
9139437499,

(i) = (iii)
9139437500,

Question Number : 76 Question Id : 9139431912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Open air primary occupation sites of Acheulian culture were known from
(i) Chirki-Nevasa

(i) Senuwar

(iii) Hunsgi

(iv) Paisra
Choose the correct answer from the code given below :

Code :
Options:

(i), (ii) and (iii)
29133457501,

(i), (iii) and (iv)
9129437502,

(i), (ii) and (iv)
9133457503,

(ii), (iii) and (iv)
2133457504,

Question Number : 76 Question Id : 9139431912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e TeHf % @e et shft sl 1 S g8 8

(i) Fahlama
(ii) HFITH
(i) gt &
(iv) S5 @
= fou o g2 # © ot I H g
?‘:
Options:
(), (ii) 31 (iii)
9139437501
(i), (iii) 3 (iv)
9139437502,
(i), (ii) 3 (iv)
9139437503,

(id), (i) M (iv)
9139437504,



Question Number : 77 Question Id : 9139431913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The sites with Mesolithic rock paintings are
(i) Mahadeo hills
(ii) Pahargarh
(iii) Chopani Mando

(iv) Birbhanpur

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii)
9139437505,

(ii) and (iii)
A1394237506.

(iii) and (iv)
9139437507,

(1) and (iii)
A12394=37508.

Question Number : 77 Question Id : 9139431913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wearifires frenfest & gaa g« &
(i) warea faea

(ii) JErsTe

(iii) =t wTUSt

(iv) ST

e fow g e # & W I A g

H:
Options:

(i) 3 (ii)
9139437505,

(i) 3 (iii)
9139437506,

(iii) 3 (iv)
9139437507 .

(i) 3T (i)
9139437508,



Question Number : 78 Question Id : 9139431914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Terracotta masks have been found at which of the following Harappan sites ?
(i) Mohenjodaro

(ii) Harappa
(iii) Lothal
(iv) Rojdi

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii)
Q1294275049

(ii) and (iii)
Q9159427510

(iii) and (iv)
9129427511,

(1) and (iv)
Q91594237512

Question Number : 78 Question Id : 9139431914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o firdt 3 e Priferfaw o wovmrs e @ R 2
(i) wETgs

(1) &gl

(iii) are

(iv) Tt

fr= fow mu e A & ot I+ g
He:

Options:

(i) 3 (ii)
Q129437509

(ii) 3 (i)
Q1=294=7510.

(iii) 3 (iv)
9139437511,



(i) 3 (iv)
9139437512,

Question Number : 79 Question Id : 9139431915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ‘Horned Deity’ is found painted on the pots of which of the following early Harappan
gites ?

(i) Kot Diji
(i) Amri

(iii} Nal

(iv) Rehman Dheri

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii)
9139437513

(ii) and (iii)
A12394=27514.

(iii) and (iv)
9139437515,

(i) and (iv)
A139437E516.

Question Number : 79 Question Id : 9139431915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafefiaa # @ o wrifires gevurs queare @ e gguoel v Hin aret qaar #1 femo fire 8 0
(i e feft
(iiy et
(iii) AT
(iv) &M &l
A e e g2 § A wd I R e

H:
Options:

(i) 3 (ii)
9139437513,

(i) 3 (iid)
9139437514



(iii) 3 (iv)
9139437515,

(i) 3 (iv)
9139437516,

Question Number : 80 Question Id : 9139431916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following Harappan sites were excavated by A.Ghosh ?
(i) Siswal
(ii) Tarkhanwala Dera
(iii) Baror

(iv) Sothi

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii)
Q129437517

(ii) and (iii)
Q139437515

(iii) and (iv)
Q9129437519

(ii) and (iv)
Q139427520

Question Number : 80 Question Id : 9139431916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freaferfaa gevarh quegst & & u, div 3 e s sam 2
(i) HigErs
(i) qEEEETT 30
(idi) T
(iv) @reft

fr= fow e e A & ot I W g
e :

Options:

(i) 3 (i)
9139437517,



(i) ¥ (iii)

9139437518,
(iii) 3 (iv)
9139437519,
(ii) 3 (iv)
9139437520,

Question Number : 81 Question Id : 9139431917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following wild animals of Harappa period find their depiction on seals and
bones at sites ?

(i) Pig
(ii) Elephant
(iii} Rhinoceros

(iv) Monkey

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii)
Q159437521

(ii) and (iii)
Q1=Z94=27E22

(iii) and (iv)
Q159437525

(i) and (iv)
Q129427524

Question Number : 81 Question Id : 9139431917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiaa 4 & S-8 georela 371 vy 2 faes ged e aon et gy @ fis 8 2
(i) H3W

(i) ETeft

(iti) a1

(iv) &gt

Hr= few o g2 # & @t I H g
T :

Options:



(i) 3 (i)

9139437521,

(i) 3 (iid)
9139437522,

(iii) 3 (iv)
9139437523,

(i) 3 (iv)
9139437524,

Question Number : 82 Question Id : 9139431918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following animals/birds are not depicted on the Harappan seals ?
(i) Buffalo

(ii) Sheep
(iii) Humped bull
(iv) Peacock

Choose the correct answer from the code given below :

Code :

Options:

(1) and (i)
Q129437525

(ii) and (iv)
Q129427526

(1) and (i1}
Q129437527

(ii) and (iii)
9129427528,

Question Number : 82 Question Id : 9139431918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frerferfiaa 4 @ o vyt = faare ggvars qet o a8 gan 2 2
(i) ¥\

(ii) w3

(iii) &g aAre 4

(iv) WR

fr= feu o g2 o @ ot I H g
&

Options:

(i) 3 (iii)
9139437525,

(ii) 3 (iv)
9139437526,

(i) 3 (ii)
9139437527 .

(i) ¥ (iii)
9139437528

Question Number : 83 Question Id : 9139431919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following items are nof associated with Megaliths ?
(i) Menhirs

(ii) Topicals
(iii) Ash mounds

(iv) Chert blades

Choose the correct answer from the code given below :

Code:
Options:

(i) and (ii)
B133457529.

(ii) and (iii)
Q129437530

(iii) and (iv)
9129427531

(i) and (iv)
Q139437532



Question Number : 83 Question Id : 9139431919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fraafafigs wei & @ =5 Tamm & =g 78 § 2

(i) WER
(i) @rdreme
(iii) T & &=
(iv) =¢ =42
fr= feu % d @ Tt 3w A gfi
E:
Options:
(i) 3 (ii)
9139437529,
(i) 3 (iid)
9139437530,
(iii) 3 (iv)
9139437531,
(i) 3 (iv)
9139437532,

Question Number : 84 Question Id : 9139431920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following Kushana kings depicted figures of the Buddha and Shiva on
their coins ?

(i) Vima Kadphises
(ii) Vasudeva
(iii} Kanishka
(iv) Huvishka

Choose the correct answer from the code given below :

Code :
Options:
(i) and (ii)
9139437533
(1) and (iii)
A1394237534.
(ii) and (iv)

B133457535.



(iii) and (iv)
9129437558,

Question Number : 84 Question Id : 9139431920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freferfiaa samorEeft tonet & & feas o faesnt woag offt fie &t sl & o fom o 0
(i) o wefeam

(ii) =THeE
(iii) s
(iv) gfawn
fr= fow mu e A & ot I+ g
?‘:
Options:
(i) 3 (ii)
9139437533,
(i) = (iii)
9139437534,
(ii) 3 (iv)
9139437535,
(iii) 3 (iv)
9139437536,

Question Number : 85 Question Id : 9139431921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following Indo-Greek kings issued copper coins with mixture of nickel ?
(i) Antimachus

(ii) Agathocleia
(iii) Diodotus

(iv) Pantaleon

Choose the correct answer from the code given below :

Code :
Options:
(i) and (iv)
91Z9427EET.

(iii) and (iv)
91394375358,



(ii) and (iv)
G1294=27559

(i) and (ii)
9133457540,

Question Number : 85 Question Id : 9139431921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i1t TwEw o o ranent 3 Frera oft a1 fufda e g@mn a1 2

(i) udtiE
(i) sArefeern
(iii) fereiea
(iv) Ferfeata
fr feu e d @ wt I g
T :
Options:
(i) 3 (iv)
9139437537,
(iii) 3 (iv)
9139437538,
(i) 3 (iv)
9139437539,
(i) 3 (i)
9139437540,

Question Number : 86 Question Id : 9139431922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following inscriptions refer to the provision of relief by the State during times
of famine 7

(i) Sohgaura copper plate inscription
(ii) Sui Vihar inscription of Ashoka
(iii) Mahasthan stone inscription

(iv) Hathigumpha inscription

Choose the correct answer from the code given below :
Code:

Options:

(i) and (iv)
Q129427541



(ii) and (iv)

G139437542

(i) and (iii)
Q139427543

(iii) and (iv)
912394327544

Question Number : 86 Question Id : 9139431922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frefefas 4 foem srfireral § o= % g srshrea & % ot T8 & TEYT S TS AT g 2
() wrei am-ua i
(ii) Freireh 1 4 faem srfiera

(iii) HETEA™ wEaT HfeE
(iv) gt sfiera
Fr fou o e § @ Tt I A gf
?‘:
Options:
(i) 3 (iv)
9139437541
(ii) 3 (iv)
9139437542
(i) 3 (iii)
9139437543,
(iii) 3 (iv)
9139437544,

Question Number : 87 Question Id : 9139431923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Richest mines of copper were located in which of the following regions of the country ?
(i) Bihar
(ii) Gujarat
(iii) Rajasthan
(iv) Tamil Nadu

Choose the correct answer from the code given below :

Code :

Options:



(i) and (11)

9139437545,

(ii) and (iii)
91394375 4E.

(1), (i) and (iii)
9139437547

(1), (ii), (iii) and (iv)
9139437548,

Question Number : 87 Question Id : 9139431923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Yo ¥ Preaferfias 2 P & 478 9 TR wyg @ R off 0

(i) faEm
(ii) TR
(iii) TTEY
(iv) dforeTg
fr fgu o % F @ Tt I A gf
q;?:
Options:
(i) 3 (ii)
9139437545,
(i) 3 (iid)
9139437546,
(i), (ii) 3 (iii)
9139437547,
(i), (i), (iii) 3 (iv)
9139437548,

Question Number : 88 Question Id : 9139431924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following inseriptions of Chandragupta II refer to his military campaign in the
South-West ?

(i) Gadhwa inscription of Gupta year 88

(ii) Sanchi stone inscription of Gupta year 93

(iii) Udayagiri cave inscription of Chandragupta 11
(iv) Udayagiri Gupta inscription of Gupta year 82

Choose the correct answer from the code given below :

Code :
Options:
(i) and (ii)
9139427549,

9139437550, ) and (i)

(i), (ii) and (iii)
9133457551,

(1), (iii) and (iv)
133457552,

Question Number : 88 Question Id : 9139431924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefafiaa 4 @ foem afierai 9 s=mea fgdfta % gféofvam 9 foee o 8 afimm =1 3g@ frean
8?7

(i) T[ed HEEq 88 H Teal Al

(ii) 7o HEaE 93 1 AT g FfierE

(iii) =5ea fgeta w1 Igafift e afiera

(iv) 7o Heaq 82 #1 Igafif T e

Hrer fgu e g2 # | wdt IR g
% :

Options:

29133457549, W w

(i) ¥ (iii)
9139437550

(1), (ii) 3 (iii)
9139437551

(1), (iii) 3 (iv)
9139437552



Question Number : 89 Question Id : 9139431925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are OCP culture sites ?
(i) Gilund
(ii) Jodhpur
(iii) Saipai

(iv) Rajpur-Parasu

Choose the correct answer from the code given below :

Code:

Options:

(1) and (ii)
91Z94327EES.

(1), (ii) and (iii)
91394327554

(ii), (iii) and (iv)
91=39437EEE.

(1), (ii), (iii) and (iv)
9129437EEE.

Question Number : 89 Question Id : 9139431925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafefiaa 4 @+t #fe gome F e 8 2
(i) firegre
(ii) wiege
(iii) g
(iv) Tegl-93g
Hr= few o g2 # & @t I H g
T :

Options:

(i) 3 (ii)
9139437553,

(i), (i) 3 (i)
9139437554,

(ii), (iii) 3 (iv)
Q1=94=75EE.



(i), (ii), (iii) 3 (iv)
9139437556,

Question Number : 90 Question Id : 9139431926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lion eapital surmounts the following Mauryan Pillars :
(i) Kolhua

(ii) Lauriya Nandangarh
(iii) Rampurwa

(iv) Sanchi

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii)
9139437557

(1) and (iv)
913943755,

(1), (ii) and (iii)
9139437559,

(i), (ii), (iii) and (iv)
9139437560,

Question Number : 90 Question Id : 9139431926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hered Fefafias fe o o fag il a2
(i) wiegst
(i) et T=gae
(i) THGLET
(iv) &=t
= feu o g2 # @ ot I H g
e
Options:
(i) 3 (i)
9139437557,
(i) 3 (iv)

9133457558,



(i), (i) ¥ (iii)
9139437559,

(i), (i), (iii) 3 (iv)
9139437560,

Sub-Section Number: 3
Sub-Section Id: 91394398
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 9139431927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Karnataka Upper Palaeolithic record comes from the Shorapur doab.

Reason (R):  Here Paddayya encountered succession of lithic traditions from Lower

Palaeolithic to Mesolithie.
Code:
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
Q1394=37561.
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q139437562
(A) is true, but (R) is false.
Q139437563
(A) is false, but (R) is true.
9139437564

Question Number : 91 Question Id : 9139431927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A= 3t A for e 8, o & o i (A) 8 i g0 6 (R) @ | Sl i afen afi e few o
e 1 T4 F T I g |
SfireT (A) : Tt I TUATSIORR 1Ed WG Stema & fiea & |
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w2
Options:

(A) 3 (R) YT (R), (A) 6 @&t =ame § |
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(A) 3fit (R) 1 @t &, 9 (R), (A) i =&t sarea 76 2 |
9139437562

(A) TE B, (R)Tad 2 |
Q1E394d=3756E3. 'T{ﬁ

(A) Trerd B, Wg (R) Tt & |
9139437564, A

Question Number : 92 Question Id : 9139431928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Homo-habilis, the first real human, broke stone into pieces and sharpened
the latter to use as tools.

Reason (R): Fractured pieces of stone have been found in the same places as the bones of
Homo-habilis.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
213942756,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
F159437566,

(A) is true, but (R) is false.
Q139437567

(A) is false, but (R) is true.
Q12943756 R,

Question Number : 92 Question Id : 9139431928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(A) 3fit (R) 1 @t &, 9 (R), (A) i =&t sarea 76 2 |
9139437566,

(A) TE B, (R)Tad 2 |
Q1Ed=E7E6E7. 'T{ﬁ

(A) Trerd B, Wg (R) Tt & |
9139437568, A

Question Number : 93 Question Id : 9139431929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Models of European prehistory were imposed upon the ancient cultures of

India.
Reason (R):  Nomenclature of cultural periods and name of techno-typology of the
artifacts is very similar.
Code :
Options:
(A) is true, but (R) is false.
2139427569,
(A) is false, but (R) is true.
Q139437570
Both (A) and (R) are true and (R) is the correct explanation of (A).
9139437571,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
2132437572,

Question Number : 93 Question Id : 9139431929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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e 1 T4 F T I g |
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(A) Terd B, g (R) Tt & |
9139437570, 1

(A) 3 (R) AT (R), (A) Y =&t =qmean 2 |
9139437571, SRl w &

(A) 3 (R) §HT &t &, T (R), (A) it wdt sarea adf 2 |
9139437572

Question Number : 94 Question Id : 9139431930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The shelters formed by the natural process, differential weathering of the
rudimentary rocks are valuable for the investigation of stone age
cultures.

Reason (R):  Quite of a few of rock shelters contain prehistoric deposits.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
9159437573,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q139437574

(A) is true, but (R) is false.
Q139437575

(A) is false, but (R) is true.
133457576,

Question Number : 94 Question Id : 9139431930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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H2:
Options:
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(A) 3fit (R) 1 @t &, 9 (R), (A) i =&t sarea 76 2 |
9139437574

(A) TE B, (R)Tad 2 |
Q1=394=3757E. 'T{ﬁ

(A) Trerd B, Wg (R) Tt & |
9139437576, A

Question Number : 95 Question Id : 9139431931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : A number of small and fast-running animals with different types of
vegetation came in Upper Pleistocene Stage.

Reason (R):  The appearance of the above situation compelled man to increase his
catchment area and to develop their technique to make tools.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
2139427577,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
F159437578.

(A) is true, but (R) is false.
Q129437579

(A) is false, but (R) is true.
Q129437580

Question Number : 95 Question Id : 9139431931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(A) 3fit (R) 1 @t &, 9 (R), (A) i =&t sarea 76 2 |
9139437578

(A) TE B, (R)Tad 2 |
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(A) Trerd B, Wg (R) Tt & |
9139437580, A

Question Number : 96 Question Id : 9139431932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Pollen analysis is a biological technique for reconstructing past environment.

HReason (R): Pollen analytical data have revealed vegetation succession, contemporary
climatic condition and impact of anthropogenic activities in the region.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91539437551,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q159437582

(A) is true, but (R) is false.
Q139437583

(A) is false, but (R) is true.
Q129427584

Question Number : 96 Question Id : 9139431932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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9139437583 g

(A) Terd B, Wg (R) Tt & |
Q1=394=37554, ‘Iﬁ

Question Number : 97 Question Id : 9139431933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Hunting-gathering stage of prehistory, includes Palaeolithic and Mesolithic.
Reason (R):  Because it represents the true prehistoric past.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21239427585,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
F1539437556,

(A) is true, but (R) is false.
G1394375E87.

(A) is false, but (R) is true.
Q129437585

Question Number : 97 Question Id : 9139431933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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9139437588, 1

Question Number : 98 Question Id : 9139431934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : A hunting-gathering economy was followed by farming and pastoralism.

Reason (R): The continuation of lithic tools over these diverse economic conditions makes
the study of tools significant.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
9139437559,

(A) is true, but (R) is false.
1294375400,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q9159437591

(A) is false, but (R) is true.
133457592,

Question Number : 98 Question Id : 9139431934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 99 Question Id : 9139431935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Majority of the mature Harappan settlements are located along the
Indus river.

HReason (R):  Fresh river water and fertile river soil attracted people for their settlements.

Code :
Options:
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q159437595
Both (A) and (R) are false.
Q129427594
(A) is false, but (R) is true.
Q9139427595
(A) is true, but (R) is false.
Q159437596

Question Number : 99 Question Id : 9139431935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Majority of the early Harappan settlements are situated in the Upper Ganga
doab.

HReason (R): The climatic and soil conditions were very favourable for such development.

Code :
Options:
(A) is true, but (R) is false.
Q159437597
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q129437595
Both (A) and (R) are false.
Q9139427599
(A) is false, but (R) is true.
Q159437600

Question Number : 100 Question 1d : 9139431936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The drains of Mohenjodaro and Harappa would have carried smoothly any
rain water.

Heason (R):  Rainfall was considerably high during the Harappan period.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
9139437601,

(A) is true, but (R) is false.
Q139437502

(A) is false, but (R) is true.
Q129427605

Both (A) and (R) are false.
Q139437504

Question Number : 101 Question 1d : 9139431937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The number of bone objects is very high in comparison to the copper objects
in the Ganga valley in Chalecolithic period.

HReason (R):  Animal food still formed an important part of the diet for the people.

Code :
Options:

Both (A) and (R) are false.
Q139437605

(A) is true, but (R) is false.
B133457E0E6,

(A) is false, but (R) i= true.
Q1394327607

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q15394376085

Question Number : 102 Question 1d : 9139431938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The thickness of cultural deposit is less during Chalcolithic period in
comparison to the NBPW period in the Ganga valley.

HReason (R):  Copper technology was less useful in comparison to the iron technology.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
9139437609,

Both (A) and (R) are false.
Q139427510

(A) is true, but (R) is false.
9129427611,

(A) is false, but (R) is true.
Q159437612

Question Number : 103 Question 1d : 9139431939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The process of urbanisation was considerably strengthened during the
Chalcolithic period in the Malwa region.

HReason (R):  Black cotton soil and copper technology were very helpful

Code :
Options:
Both (A) and (R) are false.
9139427613,
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
2139427614
(A) is true, but (R) is false.
9139437615,
(A) is false, but (R) is true.
9139437616,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= 3t o feg o B, Fd & o i (A) R afftgen % (R) @ | el it afen il A= feg g
e &1 T4 F T I g |

SAfirweT (A) : Tl & & § ATH T A R 6 wee g |

i (R) : wreft Taeeft frdt it o aofts aees @ |
Hhe:

Options:

Q1394376132 (&) 3 (R) ﬁ:ﬁ ﬂ?lﬁ‘ﬁ :

(A) 3 (R) 5HT &8t &, T (R), (A) it w8t sarem 76 2 |

9139437614
(A) T8 B, (R) TT&d 2 |
9139437615, 1
(A) Ted B, (R)T& 7 |
Q1=294=27616E. ‘:Rﬁ

Question Number : 105 Question Id : 9139431941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The Mahasthan Stone Plaque inscription and Schgaura copper plate
inscription make provision for relief to the drought stricken people by
the State.

Reason (R):  Famine was recurrent and State was ready to provide sucecour to the people.

Code :
Options:

Both (A) and (R) are true.
G1239437617.

(A) is true, but (R) is false.
Q139437618

Both (A) and (R) are false.
Q1294276149

Both (A) and (R) are true and (R) is the correct explanation of (A).
9139437620,

Question Number : 105 Question Id : 9139431941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A= 3t %o fog e 8, fd @ s afirem (A) R i g0 7% (R) ] | e 6t wfen afh = fog e
e WA Fad I g |
SfiremeT (A) :  WeredT et e iR wigita awa sfiera & wwa % gro gt yfead @i
Ted o1 & f sraen R R
T (R) : FehTe AT B @ 3 it it wEa 23 % T asw tam tgen o |

F:
Options:

A) #H (R I
9139437617, (&) 3 (R) ¥ 7 &

(A) T& B, (R) T 2 |
9139437618 g

A) (R Ted & |
9139437619, (&) 3 (R) T g

(A) 3 (R) 9T (R), (A) < @&t == 2 |
9139437620, aF wE & w &

Question Number : 106 Question Id : 9139431942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Besnagar Garuda pillar inscription is a Vaishnavite inscription. Vaisnavism
was a popular cult in the region.

HReason (R): It indicates that foreigners were inclined towards Vaishnavism.

Code :
Options:

Both (A) and (R) are true.
Q1394376521

(A) is true, but (R) is false.
B133457E22.

Both (A) and (R) are false.
Q1394376823

Both (A) and (R) are true and (R) is the correct explanation of (A).
2132437624

Question Number : 106 Question Id : 9139431942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A= 3 A fon e B, d & o i (A) 8 offt g@n o (R) @ | AT it afen ol A= feg g
e 1 T4 F T I g |
firpe (A) : WETH THE TRTeE U dwiE g & grat-ud AfeE 2 | dwe ol 39 ae | aeie
qr o |

7% (R) : % TH 910 &I Hehd & Foh faeelt oft S wd & ofe smefda o

F:
Options:

A) # (R I
9139437621, (&) 3T (R) ¥ 7 &

(A) T8 B, (R) TT&d 2 |
9139437622 1

A) I (R Ted & |
9139437623, (&) 3 (R) T g

(A) 3 (R) 9T (R), (A) it @&t =qrean 2 |
Q1E34d=37624. ﬁ@ﬁ H‘a"l %

Question Number : 107 Question Id : 9139431943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fr= 3t %o fog e 8, Ft @ s afirrem (A) B o gm0 9% (R) & | e =t wfen afl = fag g
e 1 TEM FHE I g |
sfirer (A) : wmga Tl W frfos w0 areft awyeifisrd 6t g get T & o |

7% (R) : Fifeh TATT HTA § WId | Hig IE 91 (Imperial authority) 781 ot |

ko
Options:

A) # (R I
9139437625, (&) 3T (R) ¥ 7 &

(A) T8 B, (R) & 2 |
9139437626, 1

(A) 3 (R) 9T (R), (A) it @&t =qrean 2 |
Q1Ed=ETFEZ2T. ﬁ@ﬁ H‘a"l %

A) (R Ted & |
9139437628, (&) 3 (R) T g

Question Number : 107 Question Id : 9139431943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The Punch-marked coins do not bear any stamp of issuing authority.
Reason (R):  Because there was no imperial authority in India during the period in
guestion.

Code :
Options:

Both (A) and (R) are true.
Q1394376525

(A) is true, but (R) is false.
Q1=Z9427E2E,

Both (A) and (R) are true and (R) is the correct explanation of (A).
F139437EET.

Both (A) and (R) are false.
Q1394376528

Question Number : 108 Question Id : 9139431944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The Gupta period saw the ascendancy of Hinduism and the Gupta kings
called themselves Parama Bhagavata.

HReason (R):  During the Gupta period four Buddha images were installed at the four
entrances of the great stupa of Sanchi.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
F139437EE9.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q159437620

(A) is true, but (R) is false.
Q1394375321

(A) is false, but (R) is true.
Q129427632

Question Number : 108 Question Id : 9139431944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fr &t %o o o &, Fod @ o sfirspem (A) R o gmo 7% (R) ® 1 AT i fee affe e fg g
e 1 TEM FHE I g |
sHfirweT (A) ;T e | forg oo % mea it TT g8 Sf e e 19 AT W 9w HITEd

Fad 4 |
% (R) : T STt H Tl HErey & =R gl W gg = gt wfi o of
2
Options:
9139437629, (&) i (R) ST &t & 741 (R), (A) i wt =amean @
(A) 3 (R) 31wt &, 9t (R), (A) 1wt saren 78 # |
9139437630,
9139437631, () 78 8, TG (R) TeRd R |
0130437630, N TR HTIR T

Question Number : 109 Question Id : 9139431945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The Kailashanatha temple of Kanchipuram was built largely during the
reign of Rajasimha.

HReason (R): The structure of the shrine was completed by his son Mahendravarman and
his queen Rangapataka.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
9139437633

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594376234

(A) is true, but (R) is false.
Q1394376535

(A) is false, but (R) is true.
Q129437536

Question Number : 109 Question Id : 9139431945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= 31w feu o 8, o @ us arfirsem (A) 2 3t gEn @ (R) B | sl i afey ot = fag g
Fe I TEM F A I g |
sFfirweT (A) ;I % Haryeryg wfst w1 P st tefie % wmoeewe § gam an |

W I JaTEr W 9 T ARG T e T v g o o oft |
e
Options:
9139437633, (A) 3 (R) GH1 &t & 7 (R), (A) it 7t =amen & |
(A) 3 (R) 5HT &t &, W (R), (A) ht 5t samen 3 & |
9139437634,
A ; R) e 2
9139437635, | )T R, g () T R
9139437636, (A) TR &, TG (R) TR |

Question Number : 110 Question Id : 9139431946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The Monolithic Panch Pandava rathas at Mahabalipuram are known as
Dharmaraja, Bhima, Arjuna, Draupadi, Nakula and Sahadeva.

Reason (R):  The total number of rathas in this group is eight.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
9139437637,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q129437638

(A) is true, but (R) is false.
A1=29427EZ29,

(A) is false, but (R) is true.
Q139437640

Question Number : 110 Question Id : 9139431946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= 3t o fog a8, fd @ s afirenem (A) R o ggm @ (R) ® | e 6t wfen afl = fog o
¢ I TN L TE I A |

HfieFeT (A) : WETHEIIH % T U9 9ved i i g, i, 359, ggl, a5 a9 g ami
8 wrfufea foem s 2

7% (R) : 39 Tg ° i 6 T gEd e R |

H2:
Options:

(A) #(R) 4T (R), (A) i &t =amean 2 |
9139437637, I w &

(A) 3 (R) g1 &t &, 9 (R), (A) it wdt sarean adf & |
9139437633,

(A) T8 B, (R) TT&d 2 |
9139437639 1

(A) Ted B, (R)T& 7 |
Q1=294=27640. \'Rﬁ

Sub-Section Number: 4
Sub-Section 1d: 91394399
Question Shuffling Allowed : Yes



Question Number : 111 Question Id : 9139431947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following sites in chronological order :
(i) Tilwara
(ii) Telkalkotta
(iii) Taddakanahalli

(iv) Baghor I11
Choose the correct answer from the code given below :

Code :
Options:
(iid), (iv}), (1), (ii)
9139437641,
(1), (i), (iii), (iw)
2139427642,
(i), (iii), (iw), (1)
9159437643,
(iw), (1), (ii), (i)
9139437644

Question Number : 111 Question 1d : 9139431947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freferfiaa guegst %t SresramaT sqafera Hifsm
(i) fererama

(ii) dFherehig]

(iii) TEFAETRA

(iv) ¥ gt

= few o = & | @ I oA g

e

Options:

(1id), (iv), (i), (i)
29133457641,

(1), (i), (iii), (iw)
133457642,

(11), (i), (iv), (1)
9133457643,

(iv), (1), (i), (iii)
9133457644



Question Number : 112 Question Id : 9139431948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following stone age sites in chronological order :
(i) Paithan
(i) Kurnool
(iii) Banki

(iv) Hemmige

Choose the correct answer from the code given below :

Code :
Options:
(i), (1d), (idi), (iv)
9139437645,
(i), (1ii), (1), (i)
2139427646,
(iif), (iv), (1), (ii)
9159437647,
(i), (1), (iw), (iii)
9139437648,

Question Number : 112 Question 1d : 9139431948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freferfaa aramo gfte guegett it sresraTan swafera Hif
(i) fg=

(i) FEA

(iii) TRl

(iv) afem

= few o = & | @ I oA g

e

Options:

(1), (i), (iii), (iv)
133457645,

(iw), (iii), (ii), (1)
133457646,

(1), (av), (1), (11)
9133457647,

(1), (1), (iv), (iii)
9133457648,



Question Number : 113 Question Id : 9139431949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following Palaeolithic sites in chronological order :
(i) Tegihalli
(ii) Kudalgi
(1ii) Arikera

(iv) Parkho-darro
Choose the correct answer from the code given below :

Code :
Options:
(i), (1d), (idi), (iv)
9139437649,
(i), (1ii), (1), (i)
2132427650,
(iif), (1), (i), (iv)
9159437651,
(1), (1ii), (iw), (ii)
9139437652,

Question Number : 113 Question 1d : 9139431949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freferfaa goramTfire worer it wresRagaER sgaferm Fif
(i) ftgeett

(i) FETM

(iii) vt

(iv) Tat-gd

= few o = & | @ I oA g

e

Options:

(1), (i), (iii), (iv)
2133457643,

(iw), (iii), (ii), (1)
133437650,

(111), (1), (i1, (iv)
9133457651,

(1), (1id), (iw), (i)
B133457E52.



Question Number : 114 Question Id : 9139431950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following eras in geological time scale in chronological order :

(i) Palaeozoic
(i) Archaeozoic
(iii) Proterozoic

{iv) Cenozoic

Choose the correct answer from the code given below :

Code :
Options:
(11), (111}, (1), (1w}
9139437653,
(1i), (i), (i), (iw)
2139427654,
(1), (iii), (ii), (iw)
9159437655,
(1w), (11}, (1), (111}
9139437656,

Question Number : 114 Question 1d : 9139431950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i wwg afoft 3 fFefafas g =t sesragean ssafem Hif
(i) Oferegs

(i) smfeitgs

(iii) SeTrAIgh

(iv) Ergh

= few o = & | @ I oA g

e

Options:

(11), (1id), (1), (iv)
133457653

(ii), (1), (i), (iw)
9133457654,

(1), (111), (i1), (iv)
9133457655,

(iw), (id), (D), (iii)
9133457656,



Question Number : 115 Question Id : 9139431951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following sites in ascending order of their cultures :
(i) Bagor
(ii) Balathal
(iii) Borl

(iv) Mahagara
Choose the correct answer from the code given below :

Code :
Options:
(iid), (iv}), (1), (ii)
9139437657,
(1i), (i), (i), (iw)
2139427658,
(iif), (1), (iw), (ii)
9159437659,
(iw), (1), (i), (i)
9139437660,

Question Number : 115 Question 1d : 9139431951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

P Torell 1 37 Geph 3 STIE SHAHET saaferd HIf :
(i) =R

(i) =Tl

(iii) =Tt

(iv) HeTel

Fr= fau Mo 5 d @ wd I g

e

Options:

(1id), (iv), (i), (i)
133457657,

(ii), (1), (i), (iw)
133457658,

(111), (1), (iv), (i)
9133457659,

(iv), (1), (i), (i)
9133457660,



Question Number : 116 Question Id : 9139431952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following sequence of evolution of human in ascending order :

(i) Australopithecus robustus
(ii) Homo habilis
(iii) Australopithecus afarensis

(iv) Homo erectus

Choose the correct answer from the code given below :

Code :
Options:
(1w), (11}, (11, (1)
9139437661,
(1ii), (1), (iw), (i)
2132427662,
(iif), (1), (i), (iv)
9139437663,
(1i), (1w}, (11, (1)
9139437664,

Question Number : 116 Question Id : 9139431952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frefafan wra sgfesma & wn 9t i sgar sqafean Hifie
() Irgeifidea dawed

(i) i efaform

(iii) FrAdwE

(iv) BT §Fed

3 fie o g # @ W Sw R P

®e:
Options:

(1w), (11), (i), (1)
9133457661,

(1id), (1), (iv), (i)
B133457EEZ.

(1id), (1), (ii), (iv)
13345766,

(11), (iw), (i), (1)
B133457664.



Question Number : 117 Question Id : 9139431953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following prehistoric tools in chronological order :

(i) Borer
(ii) Burin
(iii) Micoquian handaxe

{iv) Lunate

Choose the correct answer from the code given below :

Code :
Options:
(i), (ii), (iw), (iii)
2132427665,
(iif), (1), (ii), (iv)
V139437EEE.
(i), (1), (idi), (iv)
139437667,
(iid), (iv), (i), (1)
2139427668,

Question Number : 117 Question Id ;: 9139431953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiga sritferarfirs w6t Fresaan sgafem $ifs

(i) g
(i) ==
(iii) HTgRIfHTA gEaFan
(iv) Ad==graf=s
= fou o g2 # © ot I H g
?‘:
Options:
(i), (i), (i), (iii)
9139437665,
(iii), (1), (ii), (iv)
9139437666,

(1), (1), (ii1), (iv)
133457 EET.



(111), (iv), (ii), (1)
B133457EED.

Question Number : 118 Question Id : 9139431954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the following prehistoric tools in chronological order :

(i) Cleaver

(ii) Shouldered celt
(iii) Trapeze

(iv) Laurel leaf point

Choose the correct answer from the code given below :

Code:
Options:
(1), (iii), (ii), (iw)
V139437669,
(iig), (1), (ii), (iv)
9139437670,
(1), (iw), (iii), (ii)
2139437671,
(iw), (ii), (i), (iii)
V1ZA427ETZ.

Question Number : 118 Question Id : 9139431954 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafefiaa sitfrariies s 5t sewagan ssafem fifsg
(i) wefrn

(ii) =i Foard!

(i) T TG (gTi)

(iv) @ i warg=e

Hr= few o g2 # & @t I H g
e :

Options:

(1), (iid), (ii), (iv)
133457669,

(111), (1), (1), (iv)
133457670,



(1), (iw), (iii), (i)
133457671

(1w), (i1}, (1), (1i1)
133457672

Question Number : 119 Question 1d : 9139431955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following archaeological zites in their chronological
order :

(i) Jorwe

(ii) Daimabad
(i)} Kot Diji

(iv) Khokhrakot

Choose the correct answer from the code given below :

Code :
Options:
(i), (i), (idi), (iv)
V139437673
(1), (11}, (1), (1w}
9139437674
(iw), (iii), (i), (1)
2132437675,
(1), (iw), (iii), (ii)
V1ZA427ETE.

Question Number : 119 Question Id : 9139431955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freferfaa queeret i 359 giesfis FresraEan sqafti fifi
(i =&

(ii) <TEHTETE

(iii) re feft

(iv) ErEthte

Hr= fou o g # 8 @t I w g
e :

Options:

(ii), (1), (i), (iw)
133457673,



(1), (ii), (1), (iv)

133457674

(1v), (1ib), (1), (1)
9133457675,

(1), (iw), (iii), (ii)
133457676,

Question Number : 120 Question Id : 9139431956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following archaeological sites in their cultural order :
(i) Chak-86
(ii) Atranjikhera
(iii) Rampurba

{iv) Bhirdana

Choose the correct answer from the code given below :

Code:
Options:
(iw), (ii), (1), (iii)
Q139437677
(i), (1), (iw), (ii)
91Z94327ETE.
(i), (iw), (1), (iii)
9139437679
(1), (iid), (iw), (ii)
9129437650,

Question Number : 120 Question 1d : 9139431956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frerfirfian el 9 3% T FAITER STafer B
(i) =-86

(ii) FerSArEET

(iii) T

(iv) Frgm

= fou o g2 & © @t I H g

C T

Options:



(iw), (i1), (D), (1i1)

B133457EFT.

(1), (1), (iv), (i)
9133457678,

(i), (iw), (i), (1ii)
133457673,

(1), (iid), (iv), (i)
133437680,

Question Number : 121 Question Id : 9139431957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following ceramic traditions in their chronological order :
(i) PGW

(ii) Rangmahal
(iii) Cord Impressed ware
(iv) Black and Red ware

Choose the correct answer from the code given below :

Code:
Options:
(i), (ii), (iii), (iv)
W129427EEL.
(iw), (iii), (1), (i)
D139437EEZ.
(iid), (iv}), (1), (ii)
9139437683,
(iw), (iid), (ii), (1)
2139427684

Question Number : 121 Question Id : 9139431957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freaferfiaa e wesned it 339 wemgea § syaftaa Hifsg
(i) Fafe ot geume

(i) TTHEA

(iii) Teeft wifa wgwms

(iv) *Id § e JgHUS

= feu o g2 # @ ot I H g
e



Options:

(i), (i), (iii), (iv)

B133457E81.

(iv), (1ii), (1), (i)
133457682,

(1), (iv), (1), (11
9133457683,

(iv), (1ii), (ii), (1)
133457684

Question Number : 122 Question Id : 9139431958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following archaeological sites in order of their cultural chronology :

(i) Inamgaon
(ii) Golbai Sasan
(iii) Baroor

(iv) Padri

Choose the correct answer from the code given below :

Code:
Options:
(i), (i), (iii), (iw)
Q1239437685
(iv), (did), (ii), (i)
Q139437686
(iddh, (i), (1), (iv)
Q1394327687
(i), (idd), (iw), (1)
Q139437688

Question Number : 122 Question 1d : 9139431958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freafeafaa quegst +t 33 aresfos Hremagan sqaftoa fifw

(i) M
(i) TeraTs GO
(iii) &L
(iv) redt
Hr= fou o g # 8 @t I w g
e :
Options:
(1), (iD), (iii), (iv)
9139437685,
(iw), (iii), (ii), (i)
9139437E86.
(iid), (ii), (i), (iv)
9139437687,
(ii), (iii), (iw), (i)
9139437688,

Question Number : 123 Question Id : 9139431959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following in order of their first occurrence :

(i) Date

(ii) Grape
(iii) Barley
(iv) Big millet

Choose the correct answer from the code given below :

Code :
Options:
(i), (1i), (i), (iv)
2132427689,
(iw), (iii), (ii), (1)
91539437690,
(iid), (1), (ii), (iv)
91394376931,
(i), (v}, (i), (iii)
91394376932,

Question Number : 123 Question Id : 9139431959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Freafafiaa it 375 v wifta & sarqam syafera $ifs

(i) T
(i) 3
(iii) =t
(iv) HtEw
13 e e e A @ T I RSP
C T
Options:
(i), (i), (iii), (iw)
Q1239437689
Ciw), (idd), (ii), (1)
Q139427690
(iid), (1), (i), (iw)
Q139437691
(i), (iw), (1), (iii)
Q139437692

Question Number : 124 Question 1d : 9139431960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the following horse bone producing archaeological sites in chronological order :

(i) Inamgaon

(ii) Atranjikhera
(iii) Pirak

(iv) Birkot Ghundai

Choose the correct answer from the code given below :

Code :
Options:
(i), (1), (iii), (ii)
9129437693,
(i), (i), (1), (iv)
9139437694,
(ii), (i), (iw), (iii)
91Z9427E495,

(111), (iv), (ii), (1)
B133457E36.



Question Number : 124 Question Id : 9139431960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiaa =2 i 2t & wmm 919 qUEgEl i Fesaan sHated $ifi

(i) gAmiE
(ii) SraTofrEg
(iii) d=
(iv) iz Joed
fr= fou o g2 & © ot I H g
?:
Options:
(i), (1), (iii), (i)
9139437693,
(idd), (ii), (1), (iv)
9139437694,
(id), (1), (i), (iii)
9139437695,
(iii), (iv), (i), (i)
9139437696,

Question Number : 125 Question 1d : 9139431961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the following caves in chronological order :
(i) Bhaja
(ii) Kanheri
(iii) Karle

(iv) Sudama

Choose the correct answer from the code given below :

Code :
Options:
(1), (ii), (iii), (iw)
9129437697,
(iw), (iid), (ii), (1)
9139437698,
(i), (iv), (i), (ii)
91Z9427E99,

(1iv), (1iD), (1), (i)
B133437700.



Question Number : 125 Question Id : 9139431961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafeafaa et it wemmgaR swEfan fif

(1) 9l
(ii) Falt
(iii) wTet
(iv) HETH1
3 foe o g2 § @ W I R o
e :
Options:
(i), (ii), (iii), (iv)
9139427697,
(iw), (iii), (ii), (1)
9139437638,
(i), (iv), (1), (ii)
9139427699,
(iw), (iii), (i), (ii)
2132427700,

Question Number : 126 Question Id : 9139431962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following Gupta gold coin-types in chronological order :
(i) Apratigha Type
(ii) Battle-axe Type
(iii) Chakradhvaja Type
(iv) Couch Type

Choose the correct answer from the code given below :

Code :
Options:
(1ii), (1i), (iv), (1)
2139427701,
(iif), (1), (i), (iv)
9139437702,

(11), (i), (iv), (1)
B133457703.



(iw), (i1), (D), (1i1)
B133457 704,

Question Number : 126 Question Id : 9139431962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frefafaa T wavl g5 it SresrRgan sqaftad Hifa ;

(i) rfag FhR
(ii) AT -97 WehI
(iii) TRETH Y
(iv) TH® TRIT
fr= fow e e A & ot I W g
E:
Options:
(iid), (ii), (iw), (i)
9139437701,
(iid), (i), (ii), (iv)
9139437702,
(ii), (iii), (iw), (i)
9139437703,
(iw), (ii), (1), (iii)
9139437704,

Question Number : 127 Question Id : 9139431963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following styles of Pallava architecture in chronological order :
(i) Nandivarman style

(ii) Mahendra style
(iii) Mamalla style
(iv) Rajasimha style

Choose the correct answer from the code given below :

Code:
Options:

(1i), (iii), (iv), (1)
9133437705,

(111), (1), (1), (iv)
B133457 706,



(11), (i), (1), (iv)
B133457707.

(11), (iw), (i), (1)
91334577038,

Question Number : 127 Question 1d : 9139431963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Yeera wyTaea it Frefefas dfei =t s srafen fifi

(i) AfFgadT deft
(i) Terg Tt
(iii) HTHee St
(iv) Trfeg 9=ft
= fou o g2 & © @t I H g
E:
Options:
(id), (iii), (iv), (1)
9139437705,
(i), (1), (i), (iv)
9139437706,
(id), (iii), (1), (iv)
9139437707,
(ii), (iv), (iid), (i)
9139437708,

Question Number : 128 Question 1d : 9139431964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the following books in chronological order :
(i) Bibliography of Indian coins
(ii) Catalogue of the Gupta gold coins in the Bayana Hoard
(iii) Ancient Indian Numismatics

(iv) Age of the Kushanas : A Numismatic Approach

Choose the correct answer from the code given below :

Code:
Options:

(1), (1i), (1), (iv)
B133437709.



(1), (id), (iv), (1)

133437710,

(1w), (i1}, (1), (1i1)
9133457711,

(i), (iii), (iw), (1)
133457712,

Question Number : 128 Question Id : 9139431964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafefiaa geast it Sramaan swafera $ifi
() fafsrard siw sfeam warma

(i) @A % 4t 7Ied Tiee FEH 9 & TAH B

(iii) it 3feam =pfaiforg
(iv) T 16 4t FuonT : v =pfaifes i
= feu o g2 # @ ot I H g
e
Options:
(), (id), (iii), (iv)
9139437709,
(i), (i), (iv), ()
9139437710,
(iw), (id), (i), (iii)
9139437711,
(id), (iid), (iv), (i)
9139437712,

Question Number : 129 Question Id : 9139431965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following coins in chronological order :
(i) Chakravikrama type

(ii) Apratigha type
(iii) Battle-axe type
(iv) Ashvamedha type

Choose the correct answer from the code given below :

Code :

Options:



(1), (1i), (1), (iv)

B133457713.

(1v), (1ib), (1), (1)
9133457714

(1ii), (v}, (1), (i)
29133457715,

(1i), (iw), (iii), (1)
133457716,

Question Number : 129 Question Id : 9139431965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freaferfaa faasl =t Fesrmgan saaftm $ifsg

(i) TeRfashn T
(i) arfers R
(iii) ST T TR
(iv) HATTHY T
Hre fou o e # & @t I w g
% :
Options:
(1), (iD), (iid), (iv)
9139437713,
(iw), (iii), (ii), (i)
9139437714,
(iid), (iv), (i), (ii)
9139437715,
(i), (iv), (iii), (i)
9139437716,

Question Number : 130 Question Id : 9139431966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following inscriptions of Ashoka in the chronological
order :

(i} Lumbini Edict

(ii) Minor Pillar Edict Nigalisagar

(iii}) Cave Edict No. I, I1, I11 at Barabar Hill
(iv) Pillar Edict No. 4 - Delhi-Topra west face

Choose the correct answer from the code given below :

Code :
Options:

(iw), (iii), (ii), ()
9133457717,

(11), (1), (iii), (iv)
91334577158,

(1id), (ii), (1), (iv)
133437719,

(1w}, (1ii), (1), (ii)
9133457720

Question Number : 130 Question Id : 9139431966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frite & fefafiaa sfeat it sesraman sgafem $ifi
(i) aferft sfiem
(i) Frmefrarm =1 @y T oE
(i) =T 9RTE % TH1 HEA 1, 11 3 111 3 Tered

(iv) feweft-Zion (vfenft @) @ o ge 4
fr fom e e # & @ I R TR
He:
Options:
(iv), (i), (id), (i)
9139437717,
(i), (1), (ii), (iv)
9139437718
(iid), (i), (D), (iv)
4139437719,

(1w), (i), (1), (ii)
9133427720



Sub-Section Number: 5
Sub-Section 1d: 913943100
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 9139431967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the sites of List I with the rivers of List 11 and choose the correct answer from the
code given below.

List I List IT
(a) Buddhitittu (i) Banganga
(b) Bagor (ii) Swarnamukhi
(e) Guler (iii) Kothari
(d) Birbhanpur (iv) Damodar
Code:
Options:
(a)—iv), (b)—(iii), (e)—(ii), (d)—(i)
Q139437721
(a)—(ii), (b)—(iii), (e)—(i), (d)—(iv)
9139437722,
(a)—(iii), (b)—(ii), (e)—iv), (d)—i)
2132437723,
(a)—1), (b)—(ii), (e)-(iii), (d)—(iv)
Q139437724

Question Number : 131 Question Id : 9139431967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
et 1% queeert it gt 1 afeat & gafe i ofit F= fog mo e 3 @ wdt sm =t 9w
Tt 1 = 1T
(a) Ifafeg (i) =moFm

(b) VTR (ii) Eavfet
(c) TR (iii) =raTd
(d) T (iv) THEIE
T :
Options:
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
9139437721,
(a)—(ii), (b)—(iii), (e)—(i), (d)—(iv)
139437722,

(a)—(iii), (b)—(ii), (e)-{iv), (d)—(1)
9133427723



(a)—(i), (b)—(ii), (e)(iii), (d)—(iv)
9133427724

Question Number : 132 Question Id : 9139431968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

geft 1% qoearet g 11 6 aiegfies gmft @ gifas Fifie o 9 R g § & 9@ s
g |

T Tt 1T
(a) Fo&M (i) Troeftef wT g
(b) AT (i) FfEe
(¢) SHHMETE (iii) Tremfem
(d) =seTg (iv) HTEeET 9TH T
e
Options:
(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
9139437725,
(a)—(i), (b)—(ii), (e)~(iii), (d)—(iv)
9139437726,
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
4139437727,
(a)—(i), (b)—(ii), (e)—(iv), (d)—(iii)
9139437728,

Question Number : 132 Question 1d : 9139431968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Mateh the sites of List I with cultural material of List II and choose the correct answer from
the code given below.

List I List I1
(a) Burzahom (i) Ramatirtha ware
(b) Apegaon (ii) Menhirs
(¢) Daimabad (iii) Rock paintings

(d) Chakradharpur (iv) Savalda ware

Code :
Options:

(a)—(ii), (b)), (e)-(iv), (d)—(iii)
91332427725

(a)—i), (b)—(ii), (e)-(iii), (d)—(iv)
133457726,



(a)—iv), (b)—(iii), (e)—(ii), (d)—(1)
9133437727

(a)—(i), (b)ii), (e)-(iv), (d)—(iii)
91332427728

Question Number : 133 Question 1d : 9139431969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Mateh the sites of List I with the cultures of List I1 and choose the correct answer from the
code given below.

List I List I1
(a) Bairadomunhwa (i) Neolithic
(b) Arali (ii) Early Stone Age
(¢) Agarhunda (iii) Upper Palaeolithic

(d) Ambarishapuram (iv) Middle Palaeolithic

Code :
Options:

(a)—(i), (b)—ii), (e)(iii), (d)—(iv)
9152427729

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91332427730

(a)—(iii), (b)~(iv), (e)—(1), (d)—(ii)
9133427721

(a)—(ii), (b)—(1), (e)-(iv), (d)—(iii)
91332427732

Question Number : 133 Question 1d : 9139431969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qeft 1% gt it g 11 6wt & gifan fifs ot = e me e § & ot 3w =i ghw |
T A I

(a) FgHEET (i) FaTaTiTes
(b) aTret (ii) SfEeR T
(c) STHEUSI (i) = eI
(d) sreadragey (iv) weg gormTiors
He:
Options:

(a)—(i), (b)—(ii), (e)(iii), (d)—(iv)
91334277239

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(1)
91332427720



(a)—(iii), (b)~(iv), (e)—1), (d)—ii)
9123427731

(a)—(ii), (b)—(1), (e)-(iv), (d)—(iii)
91332427732

Question Number : 134 Question 1d : 9139431970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Matech the sites of List I with rivers of List II and choose the correct answer from the code
given below.

List I List I1
(a) Tamluk (i) Vishvamitra
(b) Uraiyur (i) Kortlayar
(¢) Vadamadurai (iii) Rupnarayan
(d) Vadodara (iv) Kaveri
Code :
Options:
(a)—(i), (h)—(ii), (e)—(iii), (d)—(iv)
21324237733
(a)—iv), (b)—(iii), (e)—(ii), (d)—(1)
Q1394=37734
(a)—iii), (b)~(iv), (e)—(ii), (d)—(1)
9139437735
(a)—(i), (b)—ii), (e)—(iv), (d)—(iii)
9139437736,

Question Number : 134 Question 1d : 9139431970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qeft 1% g it g 11 6 3feat & gifea fifse ot f= foo mo e & @ ot s = 9fm )
e A I

(a) TS (i) Toyarfis
(b) I (ii) AR
(¢) ATETEUR (i) TR
(d) sErgn (iv) whradt
He:
Options:

(a)—(i), (b)—(ii), (e)(iii), (d)—(iv)
9133427733



(a)—iv), (b)—(iii), (e)—(ii), (d)—(1)
9123427734

(a)-(iii), (b)—(iv), (e)-(ii), (d)—(i)
91332427735

(a)—i), (b)—(ii), (e)(iv), (d)—(iii)
133457736,

Question Number : 135 Question Id : 9139431971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match authors of List I with the their book of List IT and choose the correct answer from the
code given below.

List I List IT
(a) F.R. Allchin (i) Ceramics for Archaeologists
(b) A.O. Shepard (i) Dating the Past
(¢) F.E. Zeuner (iii) The Archaeology of Early Historic South Asia
(d) LK. Sarma (iv) Coinage of the Satavahana Empire
Code:
Options:
(a)—(iii), (b)—(ii), (e)—(iv), (d)—(i)
91539437737,
(a)—(iii), (b)—(1), (e)—(ii), (d)—(iv)
9139437738,
(a)—1), (b)—(ii), (e)—(iii), (d)—(iv)
9139437739
(a)—(iv), (b)—(i), (e)—(ii), (d)—(iii)
21392427740,

Question Number : 135 Question Id : 9139431971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ot 1 orEehi st g 11 geaehi & @y gafera i i f= fog o e 4 & @@ s A 9w
I A I
(a) TR AedA () Sufes wi snfreitea

(b) T3, 39 (i) =fén g ame

(c) Th.3. T (iii) g snfrarars oiw ovefl faeeifir aray wfirm
(d) #m3.%. Imi (iv) FEMEAH HF g Gaaren TR

He:
Options:

(a)—(iii), (b)—(ii), (e)—Liv), (d)—~(1)
91532427737,



(a)—(iii), (b)~(1), (e)—(ii), (d)—(iv)
9133427738

(a)—(i), (b)—(ii), (e)(iii), (d)—(iv)
9123427739

(a)—liv), (b)—(i), (e)—(ii), (d)—(iii)
2133457740,

Question Number : 136 Question Id : 9139431972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the archaeological sites of List I with excavators of List I1 and choose the correct
answer from the code given below.

List I List IT
(a) Baghai Khor (i) S.R. Rao
(b) Piklihal (ii) G.R. Sharma
(¢) Paiyampalli (iii) R.K. Verma
(d) Kaushambi (iv) F.R. Allchin
Code :
Options:
(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
Q1394=37741.
(a)—iv), (b)—(iii), (e)—(ii), (d)—(1)
9129437742
(a)—(iii), (b)—~(iv), (e)—(1), (d)—{(ii)
9159437743
(a)—i), (b)—iii), (e)—iv), (d)—(ii)
9129437744,

Question Number : 136 Question Id : 9139431972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1 % qurarfeas e ot gt 11 % segeien & ary gafaa fifm ot f= e me £ 4 @ ot
It gfu |

g1 gl 11
(a) a=TE @R (i) THAN. TS
(b) fracfres (ii) ft. a7, wmt
() Tmueet (iii) 1%, Tt
(d) =izt (iv) T3, e

% :

Options:



(a)—(ii), (b)—(1), (e)~(iv), (d)—(iii)
9123427741,

(a)—iv), (b)—(iii), (e)—(ii), (d)—(i)
91232427742

(a)—(iii), (b)—(iv), (e)—(1), (d)—ii)
29133457743,

(a)—(1), (b)—iii), (e)—(iv), (d)—(ii)
9133437744

Question Number : 137 Question Id : 9139431973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the archeological sites of List I with rivers on which they are situated of List IT and
choose the correct answer from the code given below.

List I List IT
(a) Atit (i) Tungbhadra
(b) Langhnaj (ii) Don
(e) Hallur (iii) Urmodi
(d) Budihal (iv) Sabarmati
Code :
Options:
(a)—{ii), (b)—(iii), (e)—(iv), (d)—(1)
9129437745
(a)—(iv), (b)—(i), (e)—(ii), (d)—(iii)
9159437746
(a)—(iii), (b)—(iv), (e)(i), (d)—(ii)
129437747,
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
Q1394=37748.

Question Number : 137 Question Id : 9139431973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1 % quarfers et gt 11 % Ffat w 3= fom 8F & iy gafes fifse ot 99 e mo %
§ & wdt 3w g

I HE I
(a) sfoa (i) qmE
(b) ST (i) gH
(c) Boa (i) ITTET
(d) gfega (iv) GraHedt

G T



Options:

(a)—(ii), (b)—(iii), (e)—(iv), (d)—(1)
B133457 745,

(a)—(iv), (b)—(1), (e)—(ii), (d)—(iii)
9133437746

(a)—(iii), (b)—(iv), (e)—(1), (d)—ii)
9133427747

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(1)
915332427748

Question Number : 138 Question Id : 9139431974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mateh the items of List I with the items of List IT and choose the correct answer from the
code given below.

List I List IT
(a) Taung Boy (i) Robert Broom
(b) Australopithecus africanus (ii) Eugene Dubois
() Homo habilis (iii) Raymond Dart
(d) Homo erectus (iv) Jonathan Leakey
Code:
Options:
(a)—(iv), (b)—(iii), (e)—(i), (d)—(ii)
2139427749,
(a)—(ii), (b)—(iii), (e)~(iv), (d)—(1)
9139437750,
(a)—(iii), (b)—(iv), (e)—(i), (d)—(ii)
9139437751,
(a)—(iii), (b)—(1), (e)iv), (d)—(ii)
2132427752,

Question Number : 138 Question Id : 9139431974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt It 7 it g 11 #e1 & gafora ifae o= fog mo e 9 @ at sw s gfe

I T I
(a) &M = (i) T=e M
(b) sretfudsn sfpdam (i) T gearg
(c) Bt gfaferm (iii) =g =7
(d) gt gwed (iv) ST o

C T



Options:

(a)—liv), (b)—(iii), (e)—(i), (d)—(ii)
133437743,

(a)—(ii), (b)—(iii), (e)—(iv), (d)—~(1)
9133427750

(a)—(iii), (b)—(iv), (e)—(1), (d)—ii)
9123427751

(a)—(iii), (b)—(1), (e)—(iv), (d)—(ii)
91532427752

Question Number : 139 Question Id : 9139431975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mateh the books of List I with authors of List IT and choose the correct answer from the code
given below.

List I List IT
(a) Ancient Cities of the Indus (i) W.A. Fairservis
(b) The City in Early Historic India (i) A. Ghosh
(¢) The Roots of Ancient India (iii) G.L. Possehl

(d) Urbanization in Early Historic India (iv) George Erdosy

Code :
Options:

(a)—i), (b)—(iii), (e)—liv), (d)(ii)
B133457 753,

(a)—(iii), (b)—(ii), (e)—(i), (d)—(iv)
9133427754

(a)—(ii), (b)(1i), (e)(iii), (d)—(iv)
9123427755

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(1)
915332427756

Question Number : 139 Question Id : 9139431975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tt It gedei =i g 115 s & gafaa fife ot = g 7o ge 9 & v swow 9
T I e I

(a) e fadts o ¢ $ed () oo u. Hamfda

(b) 3 fidt 37 ot Redtf $fn (i) w. Wi

(c) § ®¢H 6 uf¥mE=e sfem (iii) ft.ue. aidre

(d) sreiTgarTe 37 o7eft feeetfe e (iv) ol et

C T



Options:

(a)—i), (b)—(iii), (e)—liv), (d)(ii)
B133457 753,

(a)—(iii), (b)—(ii), (e)—(i), (d)—(iv)
9133427754

(a)—(ii), (b)(1i), (e)(iii), (d)—(iv)
9123427755

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(1)
915332427756

Question Number : 140 Question Id : 9139431976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mateh the items of List I with the items of List IT and choose the correct answer from the
code given below.
List I List IT

(a) Cemetery H. Culture (i) Chanhudaro
(b) Jhukar Culture (ii) Brahmagiri

(¢) Gandhar Grave Culture (iii) Harappa

(d) Megalithic Culture (iv) Birkot Ghundai

Code :
Options:

(a)—(i), (b)—(iv), (e)—(ii), (d)—(iii)
133437757,

(a)—(iv), (b)—(iii), (e)—(1), (d)—(ii)
9133427758

(a)—(ii), (b)(1i), (e)(iii), (d)—(iv)
91334277539

(a)—(iii), (b)—(1), (e)—(iv), (d)—(ii)
91332427760

Question Number : 140 Question Id : 9139431976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt It 7 it g 11 #e1 & gafora ifae o= fog moge 9 @ aft sw s i

TR 1 Tt 11
(a) T = w@wpfa () <SG
(b) g HEHfa (i) wafird

(c) TTER Ua Hehfe (iii) FEo
(d) FEeararfiees @epfa (iv) il ged

C T



Options:

(a)—(i), (b)—(iv), (e)—(ii), (d)—(iii)
133437757,

(a)—(iv), (b)—(iii), (e)—(1), (d)—(ii)
9133427758

(a)—(ii), (b)(1i), (e)(iii), (d)—(iv)
91334277539

(a)—(iii), (b)—(1), (e)—(iv), (d)—(ii)
91332427760

Question Number : 141 Question Id : 9139431977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mateh the items of List I with the items of List IT and choose the correct answer from the
code given below.

List I List IT
(a) Aerial Photography (i) C.J. Thomsen
(b) Dendrochronology (ii) AE. Dauglass
(¢) Typology (iii) C.F.V. Weizsicker

(d) Potassium Argon Method (iv) 0.G.S. Crawford

Code :
Options:

(a)—i), (b)—(iii), (e)—(ii), (d)—(iv)
133437761

(a)—(iv), (b)—(ii), (e)—(i), (d)—(iii)
9133437762

(a)—(iii), (b)), (e)—(iv), (d)—(ii)
9133427763

(a)—(ii), (b)—(iv), (e)-(iii), (d)—(1)
91532427764

Question Number : 141 Question Id : 9139431977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt It 7 it g 11 #e1 & gafora ifae o= fog mo e 9 @ aft sw st i

T 1 Leip
(a) BETS BT () w3, gime
(b) FEI-TAT FIATTHA (i) 3. sTew
(¢) WrEgeht (iii) ot uw . agaEE

(d) drerftrm-amts fafa (iv) ot.5f.um, #iwE

C T



Options:

(a)—i), (b)—(iii), (e)—(ii), (d)—(iv)
133437761

(a)—(iv), (b)—(ii), (e)—(i), (d)—(iii)
9133437762

(a)—(iii), (b)), (e)—(iv), (d)—(ii)
9133427763

(a)—(ii), (b)—(iv), (e)-(iii), (d)—(1)
91532427764

Question Number : 142 Question Id : 9139431978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mateh the items of List I with the items of List IT and choose the correct answer from the
code given below.

List I List IT
(a) Pastoralism (i) Megaliths
(b) Urbanism (i) Pirak
(e) Cremation (iii) Mesolithic

(d) Cairon burial (iv) NBPW

Code :
Options:

(a)—liv), (b)—(iii), (e)—(ii), (d)—(1)
133457 7ES.

(a)—(iii), (b)—~(iv), (e)—(ii), (d)—(1)
9133437766

(a)—(ii), (b)—(1), (e)-(iv), (d)—(iii)
9133427767,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91539427768

Question Number : 142 Question Id : 9139431978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt It 7 it g 11 #e1 & gafora ifae o= fog mo e 9 @ adft sw s i

I T I
(a) FER (i) wgmTTforh
(b) Frr{isRtor (i) e
(c) CTEEEhI (i) HeaTaTfiTh

(d) = HwTfE (iv) w4t g,

C T



Options:

(a)—liv), (b)—(iii), (e)—(ii), (d)—(1)
133457 7ES.

(a)—(iii), (b)—~(iv), (e)—(ii), (d)—(1)
9133437766

(a)—(ii), (b)—(1), (e)-(iv), (d)—(iii)
9133427767,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91539427768

Question Number : 143 Question Id : 9139431979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mateh the items of List I with the items of List IT and choose the correct answer from the
code given below.

List I List IT
(a) Lakulisa (i) Jainism
(b) Hariti (i) Buddhism
(¢) Kartikeya (iii) Shaivism

(d) Parshvanatha (iv) Bakta cult

Code :
Options:

(a)—(iii), (b)—(ii), (e)—(iv), (d)—(i)
133437769,

(a)—(iii), (b)—(1), (e)—(ii), (d)—(iv)
9133427770

(a)—iv), (b)—(1), (e)—(iil), (d)—(ii)
9133427771

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
9132427772

Question Number : 143 Question Id : 9139431979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et Tt w6t g 106 wel & fram i it = fag o e 3 @ vt st gf

g1 g 11
(a) TFcE (i) 9
(b) wfefa (i) g g
(e) fdea (iid) ¥ o
(d) STy (iv) T o

C T



Options:

(a)—(iii), (b)—(ii), (e)—(iv), (d)—(i)
133437769,

(a)—(iii), (b)—(1), (e)=(ii), (d)—(iv)
9133427770

(a)—(iv), (b)—1), (e)—(ii1), (d)—ii)
9133457771,

(a)-1), (b)-1ii), (e)iii), (d)-iv)
9132427772

Question Number : 144 Question Id : 9139431980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mateh the rivers of List I with excavated sites of List 11 and choose the correct answer from
the code given below.

List I List 11
(a) Bolan (i) Pandurazardhibi
(b) Kalisindhu (ii) Chechar
(¢) Ganga (iii) Mehargarh
(d) Ajay (iv) Kayatha
Code :
Options:
(a)—i), (b)), (e)-(iii), (di—(iv)
919437773,
(a)—(ii), (b)—(iii), (e}—(iv), (d)—1)
9129437774
(a)(iii), (b)iv), (e}(ii), (d)—1)
9129437775
(a)—(iv), (b)—i), (e)—(iii), (d)—ii)
Q152437776

Question Number : 144 Question Id : 9139431980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



gt 1% feu o afeat & am 6t 14 fiy e seafa o @ i fif s R g g da
Hat I Ft g |

T o
(a) dteA (i) wigTametet
(b) Freftfaryg (i) ==
(e) T (iii) HFOTE
(d) =g (iv) el
% :
Options:
(a)—(1), (b)—(ii), (e)(iii), (d)—(iv)
9139437773
(a)—(ii), (b)—(iii), (e)—(iv), (d)—(D)
9139437774,
(a)—(iii), (b)—(iv), (e)(ii), (d)—(1)
9139437775,
(a)(iv), (b)—(1), (e)(iii), (d)—(ii)
9139437776

Question Number : 145 Question Id : 9139431981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the Mahajanapadas of List I with the Capitals of List 11 and choose the correct
answer from the code given below.

List I List IT
{a) Asmaka (i) Mahishmati
(b)) Chedi (ii) Potali

(c) North Avanti (iii) Shaktimati
(d) South Avanti (iv) Ujjayini

Code :

Options:

(a)—(ii), (b)—(1), (e)~(iv), (d)—(iii)
9133427777

(a)—(iv), (b)—(ii), (e)-{iii), (d)—(1)
91232427778

(a)—{ii), (b)—(iii), (e)—(iv), (d)—(1)
133457773,

(a)—(iii), (b)—~(iv), (e)—(1), (d)—ii)
9133437780

Question Number : 145 Question Id : 9139431981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

gt 1 % warael St {11 R et & gafeq fifse ot = fau e ge § 8 5d@t 3w =t 9fm )
T T

(a) ST (i) wigsdt
(b) =f (i) et
(¢) I 3af= (iii) Frieresret
(d) gt aaf= (iv) =G
E:
Options:
(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
9139437777,
(a)—(iv), (h)—(ii), (e)—(iii), (d)—(i)
9139437778,
(a)—(i), (b)—(iii), (e)—(iv), (d)—i)
9139437779,
(a)—(iii), (b)—(iv), (e)~(1), (d)~(ii)
9139437780,

Question Number : 146 Question 1d : 9139431982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Mateh the books of List I with authors of List 11 and choose the correct answer from the code
given below.

ListI List IT
(a) Prehistoric India (i) D.K. Chakrabarti
(b) The Early Use of Iron in India (ii) S. Piggott
(¢) Archaelogy of India (iii) M.K. Dhavalikar
(d) Historical Archaeology (iv) D.P. Agrawal
Code:
Options:
(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
9139437781,
(a)—(iii), (b)—(ii), (e)=(i), (d)—(iv)
2139427752,
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
F159437753.
(a)—(i), (b)—iv), (e)—(iii), (d)—(ii)
9139437754

Question Number : 146 Question Id : 9139431982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

gt 1t geaent = gt 11 % e 3 gifera fifvg o 9= fie e 52 3 @ odt s+ 9fn
e T I

(a) Wit 3fem (i) 2.3, Ferad
(b) g efl o 16 ammga = 3w (i) . fe
(e) FTHIIeATA HH hEm (i) UH.%h, e
(d) Teeeitferer smdateristt (iv) .4, smETE
E:
Options:
(a)—(ii), (b)—(1), (e)~(iv), (d)—(iii)
9139437781,
(a)—(ii), (b)—(ii), (e)—(i), (d)—(iv)
9139437782,
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(1)
9139437783,
(a)—(1), (b)—(iv), (e)—(iii), (d)—(ii)
91394377824,

Question Number : 147 Question 1d : 9139431983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the weight standard of gold coins of List I with the name of kings of List I1 and
choose the correct answer from the code given below.

List I List I1
(a) Gold 80% (i) Chandragupta 11
(b) Gold 79% (ii) Vishnugupta
(c) Gold 67% (iii) Skandagupta
(d) Gold 43% (iv) Kumaragupta 11
Code :
Options:
(a)—1), (b)—iv), (e)—(ii), (d)—(iii)
9139437785,
(a)—ii), (b)—(iv), (e)—(iii), (d)—(1)
2139427756,
(a)—iv), (b)), (e)—(ii), (d)—(iii)
F1594377EY.
(a)—(ii), (b)—(iii), (e)—(i), (d)—(iv)
9139437788,

Question Number : 147 Question 1d : 9139431983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

gt 1% feu o wavl faael o Ars a9/ gt 1 H fqu e wnedi & am & gafaa fifs eii
= fau o 2 4 @ wd I g |

g gt I
(a) T&vl 80% (i) ==ged 11
(b) Tt 79% (ii) Femopre
(c) Tl 67% (i) eI
(d) Favi 43% (iv) AT 11
% :
Options:
(a)—(1), (b)—{iv), (e)~(ii), (d)—(iii)
9139437785,
(a)(ii), (b)—{iv), (e)—(iii), (d)—(i)
9139437786,
(a)—{iv), (b)), (e){ii), (d)—(iii)
9139437787,
(a)—(i), (b)(iii), (e)—(i), (d){iv)
9139437788,

Question Number : 148 Question Id : 9139431984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List IT and choose the correct answer from the
code given below.

List I List IT
(Origin of Indian Coinage) (Advocate)
(a) Achaemenian origin theory (i) Allan and Decourdemanche

(b) Babyloni origin theory (ii) Cunningham and Rapson
(¢) Greek origin theory (iii) Kennedy and Smith
(d) Indian origin theory (iv) Wilson and Prinsep
Code :

Options:

(a)(1), (b)—(ii), (e)—(iil), (d)—{iv)
913943778539

(a)—(iv), (b)—(iii), (e)—(ii), (d)—~(1)
9139437790

(a)—(iii), (b)~(iv), (e)—(ii), (d)~(1)
9139437791,

(a)—(1), (b)—(iid), (e)—(iv), (d)—(ii)
91394537792,



Question Number : 148 Question Id : 9139431984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ot It 71 it g 11 751 & gafera Aifae o= fog e e 9 @ ad sm s i

A1 T
(wmera He1 6 Ieafw) (Fmef)

(a) gawdt sf w1 fagm () ued aun fewfemr=
(b) Fefteiifree Ieafa = fagia i) FFHEm qa T
() gt Ieafsr = fagm (iii) st T fey
(d) wreefta seafe  fagre (v Faems qun fimg

he:
Options:

(a)—i), (b)—(ii), (e)-(iii), (d)—(iv)
133457789,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91332437730

(a)—(iii), (b)(iv), (e)-(ii), (d)—(i)
9123427791

(a)—(1), (b)—iii), (e)—(iv), (d)—(ii)
9152427792

Question Number : 149 Question Id : 9139431985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the Pottery of List I with the Representative Site of List II and choose the correct
answer from the code given below.

List I List I1
(a) Arretine ware (i) Ahar
(b) Lustrous red ware (ii) Arikamedu
(¢c) Malwa ware (iii) Navadatoli

(d) Painted black and red ware (iv) Rangpur

Code :
Options:
(a)—(iii), (b)—(iv), (e)—(ii), (d)—(i)
2139427733

(a)—(ii), (b)—(1), (e)(iii), (d)—(iv)
91332437734

(a)—(ii), (b)—(iv), (e)-{iii), (d)—(1)
9123427795

(a)—(iv), (b)—(iii), (e)—(1), (d)—ii)
9123427796,



Question Number : 149 Question Id : 9139431985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1 % gl < g=ht 11 % wfafifira woa @ gifem i oft f= g o g2 4 @ ot s
g |

T I T I
(a) TftaTs Wve (1) 3HETS
(b) THFHER T HIUS (i) frmrg
(¢) HTEHET WU (i) “TagTEret

(d) T et — et vvE (iv) TR

He:
Options:

(a)—(iii), (b)(iv), (e)-(ii), (d)—(1)
91334277393

(a)—(ii), (b)—(1i), (e)(iii), (d)—(iv)
9123427794

(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
133457795,

(a)—(iv), (b)—(iii), (e)—(1), (d)—ii)
91334377396

Question Number : 150 Question Id : 9139431986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the Ancient towns of List I with the Modern locations of List 11 and choose the correct
answer from the code given below.

List I List IT
(a) Aihole (i) Amaravati
(b) Dhanyakataka  (ii) Bijapur
(¢) Dwarasamudra  (iii) Halebid
(d) Gangavadi (iv) Mysore

Code :

Options:

(a)—(i), (b)—(ii), (e)(iii), (d)—(iv)
9133427797

(a)—(ii), (b)—(1i), (e)(iii), (d)—(iv)
9123427798

(a)—liv), (b)—(iii), (e)—(ii), (d)—(1)
133457799,



(a)—(ii), (b)—(1), (e)~(iv), (d)—(iii)
9123427500

Question Number : 150 Question Id : 9139431986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1% wrelts = o g 11 <6 e R @ gifem fifse o iR Ry e & @ @ s
g |

I Tt I
(a) U@ (i) armrat
(b) HTTheh (i) =remge
(c) GrEwR (iii) getfars
(d) Trranfe (iv) AL
e
Options:
(a)—(1), (b)), (e)~(iii), (d)~(iv)
9139437797
(a)—(ii), (b)—(i), (e)~(iii), (d)—(iv)
9139437798,
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
9139437799,

(a)—(ii), (b)—(1), (e)-(iv), (d)—(iii)
9123427800



